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2024-02-02 09:54:26

Al A

A= BHA=EXS A 0 SXNEHY
M =XDIgtEH
=l AlRISXIXIE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
2H=X= 2,234,045,994 2,038,650,597 195,395,397
= 1,670,862,256
s 73,224,199
| 47,750,291
& 442,209,248
SXZ 945,893,601 862,126,053 83,767,548
= 626,282,595
s 29,038,674
| 1,029,203
& 289,543,129
SXIIBtEA 15,434,336 17,734,937 22,300,601
= 584,012
s 1,941,844
& 12,908,480
MBI SXIXI& 15,434,336 17,734,937 22,300,601
= 584,012
s 1,941,844
= 12,908,480
SXNEZ0F 2=A 59,700 66,000 26,300
201 2Er2Z 24,300 27,000 22,700
01 ArR22ltl 24,300 27,000 A2,700
OLetaa==2H] 24,300
203 =& 35,400 39,000 23,600
03 A Z=ZIH S =AY 35,400 39,000 A3,600
OAlIEXI S =&l 35,400
MSXIALY &4dst X& 723,883 720,048 3,83%
307 gIzHol ™ 709,483 704,048 5,435
10 Al SXAEHE2EHIEX 481,720 485,432 A3,712
S=AM3EXE2e 29 481,720
11 ASI=SXAIEEE 227,763 218,616 9,147
OM2XNES233 K& 90,000
OZE=SMA=IAL HEAS 235 0=F 7,000
o9 Zcd3 29 130,763
308 AXIHMSO0I& 14,400 16,000 A1,600
01 XN BAELS 14,400 16,000 21,600
OAlZ AsI=XIE2s 2 K& 14,400
SESCETSEMIZNNEH 2HX2 127,650 128,250 2600
201 2E2 7,000 7,600 A600
02 E2324H| 7,000 7,600 2600
OZE=ECSEMIISRHH ct&dEH 7,000
307 QI2Hol A 120,650 120,650
05 EIR”IAE S 120,650 120,650




D EA=SEX=
D =2X0Ig RS

2A

SXE 1

ol A= XIXA (SH9 H2)
A2 R4 BB O9(B) - IRAY - BAS 0fl o Ce = HIR=2
sHTTATeES T == B Oil &t S

| Ozz=sc zgAE=IMH 29 120,650
NEEVERTSIEEDY 6,000 8,000 £2,000
308 KX EHXI SO & 6,000 8,000 £2,000
01 IXSHHBAEES 6,000 8,000 A2,000
OABI=XIO & JIE oAl 6,000
AMIIMHIAR d8 & 22 1,491,721 1,935,720 A443,999
306 == 1,491,721 1,935,720 A443,999
01 &3 1,491,721 1,935,720 A443,999
OAMZIMEIAY 29 1,491,721
MNSI=SXIAL HEE] 10,000 17,000 A7,000
307 2I2+01 A 10,000 17,000 A7,000
11 ABI =AY B E 10,000 17,000 7,000
OSS0IAIE =0 73| 10,000
2 ALSI= XA MISHS] &t 5,500 5,500
307 QI2H0l M 5,500 5,500
11 AL =SXAMSEES 5,500 5,500
OF2 ABI=XIAN HSUHE &} 5,500
AN EEXATRE 2F 300,000 0 300,000
= 150,000
& 150,000
308 AXIEHMSOIN 300,000 0 300,000
= 150,000
= 150,000
01 RXSHBAEES 300,000 0 300,000
OMSIRE SEXATRY 2% 300,000
= 150,000
= 150,000
ASIZXIAIE MEX 212 120,000 120,000
301 LPENF 120,000 120,000
03 MBI 2 & A6l 2 (K THEA) 120,000 120,000
OAISISXIAIE MEXt 22 120,000
ASISXAIE SAHA €2 EY 29 130,000 150,000 220,000
307 QIZ2t01 A 130,000 150,000 220,000
11 ASI=SXAIEEE 130,000 150,000 A20,000
OMBIZXIAIE EAX BRER 29 130,000
MNSISXIAIE SAHA IR XA (=20]) 449,385 423,875 25,510
= 314,570
= 134,815
307 QI2H0IH 449,385 423,875 25,510
= 314,570
& 134,815
11 Al =SXAMEES 449,385 423,875 25,510




AR PA=XZ = A
Ha: =XD|BEH

P ENEE

ol ARRISXIRE (SH9 H2)
Al = % ol (5 = dEE =
A2 2K B O9I(30) - HRAY - BES ol &t e HDS2
OAZISTIAIE SALAF CHHIQIZE X2 449,385
= 314,570
< 134,815
ABl=XEe R - 38 & Ws FAWH| 3,600 4,000 2400
202 Ot 3,600 4,000 2400
01 2oL 3,600 4,000 2400
OmglEXge Xe - Fd & us FE0o] 3,600
AZIEX-ER! - AlE e 8,100 9,000 2900
201 et ] 8,100 9,000 2900
01 AlR2telHl 8,100 9,000 2900
OAMEISXIE! - AIE 1S 8,100
AZISTAIEEALR R XA 401,750 393,560 8,190
307 e12+0ld 401,750 393,560 8,190
10 AlISIIAIEEE 22X 401,750 393,560 8,190
OARISAIAIE SALL UReg A& 401,750
Al AlRISXIAIE SAHL 28 XI& 3,103,120 2,780,112 323,008
308 ARISHSOIH 3,103,120 2,780,112 323,008
01 AXHH B ELES 3,103,120 2,780,112 323,008
OAIZ ARISXIANESALL R+ 3,103,120
HoI2HEXAE 2SR 33,880 40,440 A 1,560
308 XXM SOIA 38,880 40,440 A 1,560
01 MRS SExXS 38,880 40,440 A 1,560
Oel2S=IANLE 28X 38,880
AZIE XA E=1F X 84,000 84,000 0
307 e12+0l1d 84,000 84,000
1 AMIEXMLEE 84,000 84,000
OABISTIA E=0= X2 84,000
NSAI S EEAN SS2et AHA 6,500 16,000 29,500
308 XXM SOIA 6,500 16,000 29,500
01 AXHH B ELES 6,500 16,000 29,500
OXISARI 2SN etz LA
& 6,500
C=0AE 2EHI(HEAY) 5,895,156 5,764,000 131,156
308 XXM SOIA 5,8%, 156 5,764,000 131,156
01 MRS SEXS 5,8%, 156 5,764,000 131,156
C=0IAlE 2gH| X2 5,8%, 156
OINA DIsEZ 203,042 363,028 159,986
= 119,442
< 83,600
403 MR EHHSAHE01H 203,042 363,028 159,986
= 119,442
< 83,600
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2 BA=N= SN SRE D

Ha: =XD|BEH

e AlRISXIAE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

01 AXIStH 22 £ 203,042 363,028 A 159,986
L=0Ad JIsES 203,042
= 119,442
& 83,600

SEAtelZt2|AL e1A4d| XIJ 1,038,369 1,034,912 3,457
s 798,744
& 239,625

308 AXIHMISO0I & 1,038,369 1,084,912 3,457
s 798,744
& 239,625

01 AXIEHZAEES 1,038,369 1,034,912 3,457
OSEAtdlZelAl el48] K& 1,038,369
s 798,744
& 239,625

AN SEAA 22l XA 99,000 99,000 0
= 82,500
& 16,500

308 AXIHMSO0IH 99,000 99,000 0
s 82,500
& 16,500

01 AXIEHBLEES 99,000 99,000 0
OAlzZ SetAtelZel X 99,000
s 82,500
& 16,500

SHE XS SEMHIA NZ 1,102,300 1,102,300 0
s 1,057,000
T 45,300

308 AEXIEHMSOIH 1,102,300 1,102,300 0
s 1,057,000
& 45,300

01 XN BAELS 1,102,300 1,102,300 0
Osts &8 seAdlA X 1,102,300
s 1,057,000
& 45,300

& #HUI0IN 29 4,680 4,680 0
= 3,600
= 1,080

308 REXISHMSOIH 4,680 4,680 0
s 3,600
T 1,080

01 XN EXS 4,680 4,680 0
O8%E #IHHI0INM 23 4,680
s 3,600




od
i’
oF
uJ

=
il

H

Nk

=M

=X =
=Y

L ERDeEA
REES

2-
.
o™
ol -
=aak

Al
=
X{XH -

2818 SS1818(8 2818 S8 |8 F8° S 8|3 g S S8 SRS
SlS|S NSNS |S|S SlS|S ©lo|© ®|S S ~|e - © SIS N
- ()] Al || [aN}N NN NaN) Ye] — Lo (aV] DD — | —
3 ==
E=]
[N Nk Nl [fo ) ] [e0] [N Nel
218181818 (|88 |E|8|8 |¥|8B & |§|8 S 8 818 (8|8
e gld|g|&|8 |€|2|2 |5|6|m |8 g |gl8 g g S8 |88
“ S| 6
i<
RIS
oOommwmﬁ_ﬁwwmmmmmwwmmmW%&%%%M%%m%%mmwmmwmwwwm
Sle|e|e efa|alalale o|g|g|e g|n|nn B o= — § J|0IN K S © © & o © @ d S|lo|lo 9Nl
TN NN ¥R RN 8|5|5|6 5|86 b h|88FFFeo=2™ T3S I|b|b
3 ©|<
<
S
iy
oir
70 -
m;_ <
: #0 T
3! ob
M * T
< Kir R
W %0 ~ I ~
o i o ol <0 = o
o A0 oF ! o x < qoRl D =
= u i B = CfZhe Z2aaPd |2E
_ ™ = 4o il =
o = | ~ D | 20 5 . 2= 2 K W sk R| o
oF Mo K Kl gk [T K = |od K4 i nu n Ki = < 80 K A E R K4 H
a0 Hiw|n & K- ok | - iy R|R|H & A Y H oz ar 0 z M g = N H
ul Dzl =| |® ok o (2% | R|Z S| ° T O 5 = Iy s U R ey T 5 =
. = o =lrl= 3. o =iz |s = | _ " o0 ®o ool RY ooy of = 2 o o0 o[RSl =
RN =am.) = = |3l 20 =z O o |®Ro X o |3 T o = g =< o W K ol |3 |=< no
&l szl @ [ |plR s|Z|m|z @b zzw slpsoneoeesess amr PRn =|®|w
= oo < = KE | KF 20| o | @ Ul | ol on | OB | AL OH S8 o) o) gy o) H R ) K|R U H
R0 = | |% |0 |2 H | o OF | T T o ol ) Mt R0 OF ol o[ R
5 | == S gkl W s |A|A g lr|r D= |s|oF & f0 QAR W W & W N R BRI W
= o |[RIR Mg |lx|s|a|< Himw|aljc W m|R|R Wiglan|x X f Xlaljod M Ha Mo X oM Xialal Mig|ol
I+ |..A|31Om_MoE._330H_._7 Oo.~81©911©2©72©©3© OOOOOZ,IOO_H,I
| |O - OO |_.OM Q9 |O OO (@) QOO (e) M QO iy N e
. ol | 5 =k R0 | & al | & iy | & < al | &
1" . Ko H __DH_ H Kt r T Ur
il =|D
<A o




of
i’
oF
uJ

=
il

H

Nk

= A

3 SRS RNEIS 228 SRR 2 > 3 3 3 S S
S S RSV EVR Bl et B 5= -0 RS -0 Y RN < ~ ~ ~ = =
- — ololo | |xm ~s |~ — ol — —
i EIEIE (BB [TI57 (|BIB|® |8 & 3 3 3 2 2
E 3 3 - - - 5 5
=)
S S|S S 3 2, 2, 2, = =
N~ N~ N
wa | 1RIEIR 3 2 3 3 5 8 8
RIS
S 812|192 2IRISIR R|I2|9|12 228|212 2888 KB STHBISSES838I8888|hLJ|n I
S NS FB F TS SRS BB [B|B JIE K = NG S T YIS S SIS S 35I5 S S S ndsnd
s O[O0 O Q| QX QNN — N N — = — 0 —
CEIRIRIERIBIBIBEIS|S|T "IBIB®B|988RBRE8-BREEREREREEREF2888
.mArm AN N wmwmw% %Hw1ﬂw1ﬂﬂw1%ﬁ%%@%
S
wom oW oW oW TR BT B T
0
)
B
ol o o
< [l = = =
Ly K ._.._.ol_a 0o Wﬂ
z | o | ar 0 =
S [ W | o | & TR = K
Co = - O 1ol <F K =N H
= ol K = = | 30 8o
= |2 &0 = 5 | 00 i 3 o ﬂ
WS yglw| (moo | [m0ow|E| |0 om|z| (M0 i
b LR = N =N o R L T Ko |8 Kk m 3
5 " 5 [F(Y a5 R SR Ry | & o ® =<
O TS| RS |0 i8S |0 0y T ¥ @
© & R (R K™ Um0 OF| DU (0 OF| . |ub|m K N &l m BN o
B |l 0|2zl |H|z|lz Olzlz|z oH|M|=E [ KO < %) ORI _ idl
RO | OF|B0 o |my O |wr|oo|m M |mo || 20| |w|w O o o iy o o iy
- e BIRIR|R B R(R Wk | RIR R IR|R D S R p) @ 0 = D]
T [Z UWim|R|R ®p|R[R B o |R|R U&= U < = ol =z A = o
* |3 Olkig|s OlH|s|s Ola|gls Olk|s|s O K0 I 5 s © Jii =
. RIS o | & F|® | Lo ur o 8 = 3
i K0 d] ur ur n < ) 0
e i =




EREWE S =N
Col JI=2dE ory
NASE 422 (SH9 H2)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
01 A2 HSHS(RRNEERTH) 278,066,851 226,635,704 51,431,147
OdA=SA 278,066,851
= 251,935,589
< 26,131,262
ot - HH=H K& 1,616,909 1,473,880 143,029
= 1,530,291
= 86,618
301 EtE NS 1,616,909 1,473,880 143,029
= 1,530,291
= 86,618
01 AR 2EHSHS(RDNEXRTHE) 1,616,909 1,473,880 143,029
Odfiat - HH=0 A& 1,616,909
= 1,530,291
s 86,618
MESe= UL 340,162 206,416 133,746
308 AXIHS0IA 340,162 206,416 133,746
08 WEJ|20UetEx 340, 162 206,416 133,746
Ous3HAH 340,162
ASA f82 X3 164,000 208,000 44,000
= 102,500
= 61,500
308 XXM SOIA 164,000 208,000 A44,000
= 102,500
=S 61,500
01 XN B2 LS 164,000 208,000 /44,000
O1L=A fig= X 164,000
= 102,500
< 61,500
T A=zs022IAL AIE 40 40
301 EtE NS 40 40
11 #AIAHIXIE S 40 40
O o30S RH) SAMSHA
gl XI& 40
A2 G220 2elA Q124H] XI& 843,015 828,19% 14,819
s 711,162
== 131,853
308 AXIMSOIA 843,015 828,19% 14,819
= 711,162
[ 131,853
01 HAHHBAEES 843,015 828,196 14,819
O2lzzs02elAL 14| X2 843,015
[ 711,162
= 131,853
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e EWE A =NE
B Ol J|=ME O
=R NASE e N3 (St &)
4224 - B B9IEH) - AIRAY - B of v G o HIDE2
2S5 ANEAE N 40,190, 151 37,124,788 3,065,363
= 26,994,340
[ 9,661,034
= 3,534,777
K22 A 17,149,753 16,623,492 1,526,261
= 16,233,669
=S 916,084
308 XXM SOIH 17,149,753 16,623,492 1,526,261
= 16,233,669
== 916,084
01 XN BSELS 17,149,753 15,623,492 1,526,261
OXEZZAML 17,149,753
= 16,233,669
& 916,084
A Atell2tel 22,034 21,4% 538
[ 22,034
308 AXIMSO0IA 22,034 21,4% 538
= 22,034
01 AXEH B2 LS 22,034 21,4% 538
OXt& Atefl el 22,034
s 22,034
KNS 2L 23 K& 2,776,157 2,651,476 124,681
= 2,776,157
308 AHAIEMSOIE 2,776,157 2,651,476 124,681
= 2,776,157
01 XN B2 LS 2,776,157 2,651,476 124,681
OX S At 23| 2,776,157
= 2,776,157
KNSR 2HE Sdst XA 81,360 90,400 29,040
308 XXM SOIA 81,360 90,400 29,040
01 AXEN B2 LS 81,360 90,400 29,040
OXEAY 2435t =8 AgHl XA 81,360
ZAEME 234 K& 616,471 603,938 12,533
= 431,530
< 184,941
307 gl2to| & 616,471 603,938 12,533
= 431,530
= 184,941
10 Al SXAI2EE 22X 616,471 603,938 12,533
OZATtEE 24| 616,471
= 431,530
= 184,941




A= EA=K= A SNERL
i 0 J|=dE oty
=R NASE e N3 (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SmoETAreER e T == B Ol &0 ==
ZAXEME AFZHl K& 14,000 20,000 26,000
307 212told 14,000 20,000 26,000
11 ARIS XA 2 X 14,000 20,000 26,000
OZAXEHE AHZH 14,000
AEOEHE 9,000 12,000 23,000
307 212+01™ 9,000 12,000 A3,000
11 ARRIS XA E X 9,000 12,000 23,000
OXtgtausl 9,000
2Es8UE == Ex5 N 7,783,711 7,275,156 513,555
= 7,467,819
S 320,892
308 XXM SOOI 7,783,711 7,275,1%6 513,555
= 7,467,819
S 320,892
01 HXHH B E2ES 7,788,711 7,275,156 513,555
OZzssUs =242 5 A 7,788,711
= 7,467,819
< 320,892
JbARHE S22t AF AP Hl X~ 868,973 782,457 86,516
[ 726,000
S 142,973
308 KXIEHMSOIS 868,973 782,457 86,516
s 726,000
S 142,973
01 AXIHHBAELS 868,973 782,457 86,516
OJtARZHE 2F2 22| AF AHY 868,973
= 726,000
S 142,973
KA MEIASETIALY =& 9,786,429 9,629,991 156,438
[ 8,114,000
< 1,672,429
202 044l 1,500 1,800 A300
[ 1,050
S 450
01 =LA LI 1,500 1,800 A300
OXYAIS AHI A SXHAY =&I0H| 1,500
s 1,050
S 450
307 212t01™ 322,000 304,000 18,000
= 225,400
< 96,600
11 ARRIS XA E X 322,000 304,000 18,000




= 2A=X= 2 SXEN
HE: G0 J|2M4E ofy
gelr NASS Mg XY (St &)
A= 2A - 3. SR(3) - MIRAY - BES Off &K diEx HusZ
Off &boH
OXIFAIZI MHIA TIRE 2 322,000
= 225,400
S 96,600
308 XXM SO0IH 9,462,929 9,324,191 138,738
[ 7,887,550
= 1,575,379
01 AXSHHELEEXS 9,462,929 9,324,191 138,738
OXIGALSI MEIA EXFALS 9,462,929
[ 7,887,550
= 1,575,379
MEALS| MHI A FERALS 745,000 0 745,000
= 625,000
= 120,000
307 el2+ol: 695,000 0 695,000
= 590,000
(= 105,000
11 AR S XA E X 695,000 0 695,000
OXIGAZIMHIA KIRZE 2H(LasE M
HIA AM) 695,000
[ 590,000
= 105,000
308 XXM SO0IA 50,000 0 50,000
= 35,000
S 15,000
01 XN ELS 50,000 0 50,000
OgYss Mt~ 50,000
= 35,000
(= 15,000
HENSHZ NS 210,598 285,072 NT4,474
[ 174,000
= 36,598
308 XXM SO0l 210,598 285,072 NT4,474
s 174,000
S 36,598
01 MXSHHBAEERS 210,598 285,072 NAT4,474
OHHDISALXF AL 210,598
= 174,000
(= 36,5%
KA MEIA EEAMSE 29 121,665 129,310 AT,645
= 85,165
== 36,500
307 212+01™ 121,665 129,310 AT,645
= 85,165

_10_




e EWE A =NE
ME: Col J|2ME O
gelr NASS Mg XY (St &)
4224 - B B9IEH) - AIRAY - B of v G o HIDE2
< 36,500
11 MEISXAEE 121,665 129,310 AT,645
OXIG At Ml A HEHAIEH 29 121,665
= 85,165
= 36,500
SSXAMHIAXRA 122,923,304 123,451,175 A527,871
= 78,583,175
= 16,174,505
Jl 1,029,203
= 27,136,421
NAotsESAHH K& 122,923,304 123,451,175 N527,871
= 78,583,175
= 16,174,505
7l 1,029,203
= 27,136,421
ots=+=g =04 73,531,750 78,936,35% A5,404,605
= 66,320,968
== 7,210,782
301 EtE N = 73,531,750 78,936,355 A\5,404,605
= 66,320,968
< 7,210,782
01 Al EE A S (2 RNEER) 73,531,750 78,936,355 A5,404,605
Olts=g =30 73,531,750
= 66,320,968
= 7,210,782
OLSS XA ES AR 4= 5,100 20,250 15,150
307 212+01& 5,100 20,250 15,150
11 AMEISXAEEES 5,100 20,250 A15,150
OOISSRIAIESAY Q1A 24 o o
&3 5,100
OlSHEFTHe3 & SALNE 40,000 51,500 ~11,500
307 elzto| & 40,000 51,500 211,500
1 AMEISXAEEXS 40,000 51,500 211,500
O0lglole &At 15,000
OOts=XIAIE M=l &8 17,000
OOtsEXAIE EUR0I=H 8,000
KNS 0tsHE 249Hl K& 2,477,178 2,521,500 N4, 322
= 1,651,452
== 825,726
308 AHXIEMSOIE 2,477,178 2,521,500 N44,322
= 1,651,452
< 825,726
01 MAHHBSEEXS 2,477,178 2,521,500 N4 322

_11_




A= BHA=EXS A 0 SXNEHY
M Ots=XAMEIAXIA
el NS0sSE2S AR (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
OX<0otsHH 224l X3 2,477,178
= 1,651,452
= 825,726
XS0otsHdlE el X2 11,919,375 10,086,000 1,833,375
s 7,946,250
= 3,973,125
308 AXIHMSO0I& 11,919,375 10,086,000 1,833,375
s 7,946,250
s 3,973,125
01 AXIEHBAEES 11,919,375 10,086,000 1,833,375
OX<0ots4lE izl X 11,919,375
s 7,946,250
= 3,973,125
E42 XNA0tsdlE FIHKI& 243,000 258,840 215,840
s 162,000
& 81,000
308 AXIHMSOI& 243,000 258,840 A 15,840
s 162,000
& 81,000
01 AXEHILEES 243,000 258,840 215,840
OE4g XYG0tsdE FIOHKR 243,000
s 162,000
& 81,000
XS0otsHE 21l 252(SSH) 716,244 716,244 0
308 RXISHMSOIH 716,244 716,244
01 AXIEHELAERS 716,244 716,244
OXY0oISHH el 2E52(52H) 716,244
XS0tsSHE 22H] X (XHAl) 48,360 48,360 0
308 AXIHMSO0I& 48,360 48,360
01 XN BAELS 48,360 48,360
OX0otSHEH 2l X1 (XEAl) 48,360
Ots=XI WAt 1,617,053 2,407,297 ANT0,244
s 1,078,035
& 539,018
308 AEXISHHMSOIH 1,617,053 2,407,297 AT90,244
= 1,078,035
= 539,018
01 AXIEHEZLAERS 1,617,053 2,407,297 AT, 244
O0ts=X WA OHAXIA 1,617,053
s 1,078,035
T 539,018
NA0tsdH SE=SCXNJEH 29 174,080 169,260 4,820




D EA=SEX= A SXER

¢ Ol S=XIAMEIAXIE

D NG0tSESAIE X (SH9 H2)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
= 52,224
=S 121,856
307 lztol & 174,080 169,260 4,820
= 52,224
== 121,856
11 AMEISXAIEEXS 174,080 169,260 4,820
OXNG0tsHEH SESZANAY 29 174,080
= 52,224
S 121,85
AS0ISHE OISR eits Al 24,300 27,000 A2,700
307 @I2t01 & 24,300 27,000 A2,700
11 AMRISXAEEES 24,300 27,000 A2,700
OXS0otsHE M= &0ts = 24,300
CietNssdH £Xidl X 204,500 297,500 A83,000
= 163,000
== 41,500
403 MR HHMSAH=01H 204,500 297,500 283,000
= 163,000
< 41,500
01 A= 2L 204,500 297,500 93,000
OtgNssae Xl A& 144,500
[ 113,000
= 31,500
otgtnss4dE &xidl X2 (S&3t) 60,000
= 50,000
=S 10,000
CIetNssdl 21dd] X 2,364,000 2,449,500 /85,500
= 1,576,000
< 788,000
308 AXIHSOIA 2,364,000 2,449,500 85,500
[ 1,576,000
= 788,000
01 HAHHBSExRS 2,364,000 2,449,500 85,500
Otsn=sHt el2bl X 2,364,000
[ 1,576,000
= 788,000
CietssdE 22dl X2 387,000 411,000 224,000
= 258,000
< 129,000
308 AXIMSOIA 387,000 411,000 24,000
= 258,000
< 129,000
01 HAHHBAEEXS 387,000 411,000 24,000




LT =

2 BAZX =
M OIsSEXAMEIAXIS

2A

SXE 1

el AG0tsEs At X (SH9 H2)
AZ .24 - ZE - (3 - MIRAY - BES Ol &rod Oﬁ]gﬁ HR=2

OLENSEHEH 221 X 387,000
z 258,000
=3 129,000

CEHNSSHE 2gAIE X2 35,460 50,768 A 15,308
a 23,640
S 11,820

308 XHXIEHH SOIE 35,460 50,768 A 15,308
z 23,640
S 11,820

01 MXISHBNEES 35,460 50,768 A 15,308
OLIENSSHIE SHAIRIE X 35,460
7 23,640
=3 11,820

UAOISIIEXI 744,550 823,820 AT9,270
9 659,728
S 84,822

301 LBt NZ 735,228 823,820 88,592
pJ 651,468
S 83,760

01 ABI2EHLHB(2DEZR) 73,228 823,820 188,592
OF0Hots AU EX3 48,560
pJ 43,028
=S 5,532
oY=l 2R 2,212
p 1,960
S 252
Oggots IE+< 1 674,976
pJ 598,080
S 76,8%
Oggols YL=52 XA 9,480
pJ 8,400
=3 1,080

308 XHXISHHISOIH 9,322 0 9,322
9 8,260
S 1,062

01 IRISHHAEES 9,322 0 9,322
oggtig X 9.322
pJ 8,260
S 1,062

OISSXIAE JIs2Y 628,107 366,923 261,184
pJ 369,475
=3 258,632

403 XEXISHHIS X201 & 628,107 366,923 261,184




D EA=SEX= A SXER

¢ Ol S=XIAMEIAXIE

D NG0tSESAIE X (SH9 H2)
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A HimE==T
) 369,475
< 258,632
01 XXM =EE 628,107 366,923 261,184
OO0tsAIE D582 628,107
2l 369,475
S 258,632
FHUYHE OrsSEAbIL X3 2,647,080 2,651,862 N4, 782
z 2,462,400
< 184,680
308 ARISHMSOIH 2,647,080 2,651,862 N4, 782
z 2,462,400
< 184,680
01 MRS SExXS 2,647,080 2,651,862 N4,782
OFAAHSOISSEMUIAXIE 2,647,080
z 2,462,400
< 184,680
RLS0ts I8 22N 2,219,817 2,073,652 146,165
= 1,268,467
< 91,350
308 ARISHHSOIH 2,219,817 2,073,652 146,165
= 1,268,467
< 951,350
01 AXHH B EES 2,219,817 2,073,652 146,165
OREs0s188 28N 2,219,817
= 1,268,467
< 951,350
QES0ts 88 A2t 2EZ(&=H) 119,6% 119,69 0
308 ARIMSOIE 119,696 119,6%6
01 MASHBSExRS 119,6% 119,6%
OREs0ts I8 22l 252(53H) 119,6%
OISESRZAE 2 140,000 140,000 0
308 ARISHMSOIH 140,000 140,000
01 MAESHB&Ex= 140,000 140,000
OOtSESA AL 29 140,000
ANZ OISESHZRY S8 755,056 737,412 17,644
= 694,304
< 60,752
308 XXM SOIA 755,056 737,412 17,644
= 694,304
< 60,752
01 XN BSELES 755,056 737,412 17,644
OANZ OISESHERY SA(212H]) 755,056




E2A=R| =

- T/

¢ Ol S=XIAMEIAXIE

P ENEE

‘3%;2 NA0otsESAIE X (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

s 694,304
= 60,752

OlISEsMEA S (AY]) 116,620 116,620 0
s 107,200
T 9,420

308 AXIHMSOIH 116,620 116,620 0
s 107,200
& 9,420

01 AXSHHBAELS 116,620 116,620 0
OUSEsHE A S (ArL]) 116,620
s 107,200
& 9,420

IHESIE0ts dol2E =X 28,359 30, 140 21,781
= 19,851
= 8,508

201 L2 | 28,359 30,140 A1,781
= 19,851
T 8,508

02 3244l 28,359 30, 140 21,781
OJIERIE0ts o2 = XI& 28,359
= 19,851
& 8,508

AL IIE/AE AeIXIZ2XE A 30,800 30,800 0
= 21,560
= 9,240

307 QI2H0l A 30,800 30,800 0
= 21,560
& 9,240

1 ARSI =XAIEE X 30,800 30,800 0
LLIIERIEOts delxlz A3 30,800
= 21,560
& 9,240

HdZO0l=sE3H| X2 199,080 189,600 9,480
= 176,400
& 22,680

301 LetENEZ 199,080 189,600 9,480
= 176,400
& 22,680

01 MBI EEAG6Z2(2DEZTHA) 199,080 189,600 9,480
ONdZ0tsE3H| XA 199,080
= 176,400
T 22,680

JLUaots 2| K& 18,960 75,840 56,880




D EA=SEX= A SXER

¢ Ol S=XIAMEIAXIE

D NG0tSESAIE X (SH9 H2)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
= 16,800
=S 2,160
301 EtE NS 18,960 75,840 A56,880
= 16,800
== 2,160
01 Al EE AT Z(2DEXR) 18,960 75,840 56,880
oggidots 2=l Xd 18,960
= 16,800
& 2,160
orsE37adl N2 7,900 6,320 1,580
= 7,000
= 900
301 2P EN= 7,900 6,320 1,580
= 7,000
=S 900
01 AR 2 HSFS(RRNEERTHE) 7,900 6,320 1,580
OotsEs-4dl A& 7,900
= 7,000
& 900
OrsS2E X2 A %t 5,750,39% 2,258,968 3,491,427
= 5,095,289
= 655,106
301 EtE NS 5,750,395 2,258,968 3,491,427
= 5,005,289
= 655,106
01 AR 2EHSFS(RNEXRTHE) 5,750,39% 2,258,968 3,491,427
OOts 2RI H Z 5,750,395
= 5,005,289
== 655,106
OlSAEXEEZ 8= 30,000 40,000 10,000
307 el2to| & 30,000 40,000 10,000
1 AMISXAIEEXS 30,000 40,000 10,000
OOt HEXNZEEZ )H#E2E 30,000
A0S NEXE 41,287 48,747 AT,460
= 35,875
= 5,412
308 XtXIEMSO0IE 41,287 48,747 AT,460
= 35,875
=S 5,412
01 XN BSELES 41,287 48,747 AT,460
OdAHots HEXNE S0 41,287
= 35,875
& 5,412




E2A=R| =

- LT

¢ Ol S=XIAMEIAXIE

2-

SXE 1

;F?_—i: NA0otsESAIE X (SH9 H2)
AT 2N FE . () - ARAY - BES Ofl b Oﬁ]gﬁ HDE2
AEEHEE e A= 1,951,200 1,875,840 75,360
= 1,800,000
& 151,200
301 LEENS 1,951,200 1,875,840 75,360
= 1,800,000
[ 151,200
01 Al EE A S (2 RNEXMH 1,951,200 1,875,840 75,360
OXEEHIEE N2 s 1,951,200
= 1,800,000
< 151,200
N X dgelsd Bixl 314,880 255,198 59,682
= 251,904
< 62,976
307 2Itold 314,880 255,198 59,682
= 251,904
(= 62,976
05 2IZtRAEZ 314,880 0 314,880
OXE XY dgel=d by 314,880
= 251,904
[ 62,976
KX AL 443,100 290,570 152,530
= 354,480
< 88,620
307 2Ito1d 443,100 290,570 152,530
= 354,480
< 88,620
05 2IHRIE S 443,100 0 443,100
OXE X2 ArgH 443,100
= 354,480
[ 88,620
IHEAERNZEE 29 675,792 638,3% 37,3%
307 2IZto1 ™ 675,792 633,3% 37,3%
05 2IR”IRIE = 675,792 638,3% 37,3%6
OJIEIEXdH 2 675,792
Z2eJ|2 29 284,411 276,123 8,288
307 2Ito1H 284,411 276,123 8,288
10 AlRISTIAIEEE 22X 284,411 276,123 8,288
OZeIA2E 284,411
OlSESdEEI |2 HEE 6,000 6,000 0
201 er2 3| 6,000 6,000
02 S3=4gl 6,000 6,000
O0lsEsdEZI|2 S 6,000
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D EA=SEX= M
: OlSSXIMHIAXIA
D NHOtSES A K&

SXE 1

(crel &)
AR SN - B . 09 (3H) - NRAY - B2 ofl b dE= TmE=EY
d=- 74 358 F 45 o 0 &t 52
OlISESHEI |2 29 2,999,808 3,193,348 A 193,540
= 1,499,904
< 1,499,904
307 21Z2H0| & 2,999,808 3,193,348 193,540
= 1,499,904
= 1,499,904
05 OIZt2|EZ2 2,999,808 3,193,348 A 193,540
O0tsESH2I 2 29 2,999,808
= 1,499,904
& 1,499,904
OlEESEED |2 HEACIHH 29 155,374 151,870 3,504
= 77,687
= 77,687
307 21Z2to| ™ 155,374 151,870 3,504
= 77,687
= 77,687
05 OIZt2|EZ2 155,374 151,870 3,504
O0tsSESHSI & HEAMCIHIH 29 155,374
= 77,687
= 77,687
StHIoHOts & e &XI 254,520 421,776 N 167,256
= 145,440
& 109,080
403 XEXISHHSAH=0|A 254,520 421,776 N167,256
= 145,440
c 109,080
01 RIXISHA2E X 254,520 421,776 N 167,256
Ostiimioiorsa e &XI 254,520
= 145,440
= 109,080
StijIloHOlsa e 29 2,169,062 1,513,214 655,848
= 1,239,450
& 929,612
308 AXIHHMSOIA 2,169,062 1,513,214 655,848
= 1,239,450
& 929,612
01 AIXIHHEBAEERZ 2,169,062 1,513,214 655,848
Ostiilololsa e 2 X 2,169,062
= 1,239,450
< 929,612
IDIDMEOISES 43,848 47,855 N4,007
301 LEtEX 2 43,848 47,855 A4,007
02 AMSIEAEMAGHS(FHLHE, KNSHH) 43,848 47,855 A4,007




D EA=SEX= M
: OlSSXIMHIAXIA

SXE 1

‘;9;2 XS0t ESAIS XA (SH9 H2)
AR 2A - BB GRS - NISAY - BES ol k4 A HIDE2
| OspizosEs 43,848
ANEOISE TN g 37,632 31,851 5,781
308 XXISHHISOI 37,632 31,851 5,781
01 IXISHZ AL E 37,682 31,851 5,781
ONEOISZ DA NI 37,682
SHIIsHOlS XIS4T 18,000 18,000 0
307 212l 18,000 18,000
TINEEWIETEES 18,000 18,000
Ostiimsiors Mg 18,000
OlEStTiolE NS - 22 X 16,000 22,500 6,500
307 Q12H0IH 16,000 22,500 6,500
ENEEVNEEES 16,000 22,500 6,500
OOISET0E NS ¥ E2XS 16,000
OlE2A SHUIXIR(3DIE) 5,985,000 6,266,200 A281,200
301 YR 5,985,000 6,268,200 A281,200
02 ASI 2B HSHS(HHS, L) 5,985,000 6,266,200 A281,200
O0IS 34! SR (31D13) 5,985,000
OLSSIUEAl oloet JISEHAY 3,570 0 3,570
= 2,100
= 1,470
403 TXISHH STH=0I & 3,570 0 3,570
= 2,100
= 1,470
01 REXISHHI X2 % 3,570 0 3,570
OOFSEITHZ X Ol T 2H(S Y OIS HE)
sy 3,570
2 2,100
= 1,470
OISSIINEIRIIZ 243 A 100,000 100,000 0
= 50,000
= 50,000
307 QI2H0|H 100,000 100,000 0
= 50,000
= 50,000
VIR PONETES 100,000 100,000 0
OOrSEIT) FERIR) |2 2435} A 100,000
2 50,000
= 50,000
7.9.419. 32 Lo SPAL(OISSXIAIE) 200,000 0 200,000
3 200,000
403 TXI SIS K20 & 200,000 0 200,000
2 200,000




LT =

2 2=

M Ots=SXNAMHIAXA
el AG0tsEs At X

2A

SXE 1

AT 2A B BR(E) - HRAY - BES 0 &t A blnE2
01 XX SN AH=E X 200,000 0 200,000
07.9.~19. 20l SFRAISE (OtSSXIAIE) 200,000
= 200,000
EsMHlA K& 410,820,947 382,176,915 28,644,032
= 256,152,688
s 462,000
= 154,206,259
Crtet B MHIA =Y 410,820,947 382,176,915 28,644,032
= 256,152,688
s 462,000
& 154,206,259
F70t B2 K& 111,644,705 126,697,592 A 15,052,887
= 89,508,000
= 22,136,705
308 AHXIHMSOIH 111,644,705 126,697,592 A 15,052,887
= 89,508,000
= 22,136,705
01 AXIEHELAEXS 111,644,705 126,697,592 A 15,052,887
Ogw0t 52 XA 111,644,705
= 89,508,000
= 22,136,705
guts 252 X3 2,400 5,600 A3,200
308 AXIHMISO0I& 2,400 5,600 A3,200
01 AXIEHBLEES 2,400 5,600 23,200
ogu=z 258 X 2,400
Sl 29 61,850,844 71,299,008 29,448,164
308 REXISHMSOIH 61,850,844 71,299,008 29,448,164
01 AXIEH B AERS 61,850,844 71,299,008 A9,448,164
Oseltd 2 61,850,844
HEes+4 N 3,453,729 6,079,924 A2,626,195
= 2,772,000
= 681,729
301 LEHBHEF 3,453,729 6,079,924 A2,626,195
= 2,772,000
& 681,729
01 A 2&HE 2 (FREETR) 3,453,729 6,079,924 A2,626,195
ONEg=s= KA 3,453,729
= 2,772,000
& 681,729
2230 (got=&) X 118,090,958 69,055,705 49,035,253
= HA,750,000
= 23,340,958
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EREVE S =N
2= AMHIA XA
Crefet 2FAHIA =Y (Gt H2)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
308 XXM SOIH 118,090,958 69,005,705 49,035,253
= 94,750,000
== 23,340,958
01 XN BSELS 118,090,958 69,005,705 49,035,253
OR220(d0t+=g) X 118,090,958
= 94,750,000
& 23,340,958
ool &= 1,556,532 1,225,151 331,381
= 1,037,688
= 518,844
403 TR SHMSAH=01H 1,556,532 1,225,151 331,381
= 1,037,688
=S 518,844
01 AXISHHA =2 £ 1,566,532 1,225,151 331,381
O0el0ld &SAtY 1,556,532
= 1,037,688
& 518,844
olglolE JIse2d 693,000 287,553 405,447
[ 462,000
= 231,000
403 AXIEHHSAH=201H 693,000 287,553 405,447
[ 462,000
= 231,000
01 AXISHHA=2EE 693,000 287,553 405,447
O0lglold JIs22d 693,000
s 462,000
== 231,000
PFuAE el2bl N2 62,306,766 62,094,034 212,732
= 42,000,000
= 20,306,766
308 AHAIEHMSOIE 62,306,766 62,004,034 212,732
= 42,000,000
= 20,306,766
01 AXEH B EES 62,306,766 62,004,034 212,732
O=EsuAA ol2d| X 62,306,766
= 42,000,000
S 20,306,766
BN HRME XA (=) 13,759,933 13,788,334 28,401
= 9,302,000
< 4,457,933
308 AXIHSO0IA 13,759,933 13,788,334 A\28,401
= 9,302,000
= 4,457,933




A= 2A=XR SA  SXHHD
HH: ERAHA X
=el: et 2 AHIA = (Gt H2)
A 2A - B . HA(SH) - HIRAIY - BES Ofl &kl OE:IE‘LE“ Hlns
01 MASHBAERS 13,759,933 13,788,334 28,401
OESnXE H2MA X (=) 13,759,933
=2 9,302,000
(= 4,457,933
SN MM NA(BX, AZ WAL 18,087,712 16,182,600 1,905,112
= 12,234,000
[ 5,853,712
308 XIXIEHHISOIE 18,087,712 16, 182,600 1,905,112
= 12,234,000
[= 5,853,712
01 RRSHHBAEERS 18,087,712 16,182,600 1,905,112
OEZXWAF XA (S WAL ELEH) 18,087,712
=2 12,234,000
(= 5,853,712
SSDEA YN XL (MDA 448,200 448,200 0
= 224,100
(= 224,100
307 QI2+0|& 448,200 448,200 0
= 224,100
[ 224,100
11 MBIEXAMEER 448,200 448,200 0
OWH A+ XIS 448,200
= 224,100
[ 224,100
ANZ ESDEE MRS X2 (CHH DAL 3,082,527 2,607,920 474,607
= 2,085,900
(= 996,627
308 XIXISHHISOIE 3,082,527 2,607,920 474,607
= 2,085,900
< 996,627
01 MHXISHHBAEERS 3,082,527 2,607,920 474,607
OAZ ESUEZ H2ME K& (CHH LA 3,082,527
= 2,085,900
[ 996,627
228 ORI0IZ 2F(HEALY) 3,757,636 3,757,636
308 XIXICHHISOIE 3,757,636 3,757,636
01 RRSHBAEERS 3,757,636 3,757,636
O3380aold 29 3,757,636
o2lold 2gXa 1,469,985 1,475,566 5,581
= 991,000
(= 478,985
308 XIXISHHISOI& 1,469,985 1,475,566 5,581
= 991,000
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a2 PA=x3 A =NE
Az B AHIA AR
CHol: [l BRAHIA S GRS
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
d=-FA-d5%-8 T = . 0l ko s2
= 478,985
01 JXISHMBABES 1,469,985 1,475,566 N5,581
Onelole 2g9X3 1,469,985
= 991,000
& 478,985
AZHES KR (BAEX) 84,000 84,000 0
= 42,000
= 42,000
307 21Z2t0| ™ 84,000 84,000 0
= 42,000
= 42,000
11 AISIS XA EX 84,000 84,000 0
OAIZHHl EEX& 84,000
= 42,000
& 42,000
Al AIZHHIES KR(BAEX) 1,729,300 1,413,000 316,300
= 1,163,000
& 566,300
308 AXIHHSOIA 1,729,300 1,413,000 316,300
= 1,163,000
c 566,300
01 AIXHHMBAMEEZ 1,729,300 1,413,000 316,300
OAlZ AMZHHE= X~ 1,729,300
= 1,163,000
= 566,300
HElold WIS X2 86,000 101,000 A 15,000
= 43,000
& 43,000
307 2I12+0| & 86,000 101,000 A 15,000
= 43,000
& 43,000
05 QIZtRIEZ 86,000 101,000 A 15,000
ONelold! wal 2L 86,000
= 43,000
< 43,000
EHECKOISESANILHEH SH(HEAIY) 370,525 336,000 34,525
307 S1ZH0| & 370,525 336,000 34,525
05 012t &2 370,525 336,000 34,525
OS=R0IEEA2HEH 29 370,525
AN Q2 HHXIAFS (HEHAIY) 57,610 57,610
307 2I1Z2+0| & 57,610 57,610
11 ARSI EXIAIEEX 57,610 57,610
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2 PA=N= SH L =N
H: 2SAHA X
SRl kst BSAHIA S (Shol: &2)
A2 2A - BB O(BH) - MRAY - BAS 0ol Ao A CmE==T
| osemeed X 57,610
A2 XA 81,6% 81,6%
307 212401 81,6% 81,6%
11 A=A 2 81,6% 81,6%
ONSH2LE HIXI(HH) 81,69
IIESFAR (RE)(RBAIY) 129,300 129,300 0
307 212+01 129,300 129,300
TIEET RS 129,300 29,300
OIIE AN 129,300
IIHSFA (A 2)(HBAIY) 53,000 53,000 0
308 XiXI SIS0/ H 53,000 53,000
01 IXISUZ AR E 53,000 53,000
O EYSIANY 53,000
SOLSSURME AZEL 81 29 91,440 91,440
308 XHXI SIS0/ H 91,440 91,440
PCENENEESS 91,440 91,440
OSOIESNRME AZEL X” 37,440
OSOIBENALE ATEs &3 S (A
2) 54,000
EUSCRIBSNAME S0 N (FeA) 3,000 3.110 A1,110
307 212401 3,000 3,110 A1,110
TIEET SRS 3,000 3,110 A1,110
OBH=ESOIESUAME S0IHEY X
2 3,000
Ol2I0lY BEEESHY DS ¥ A4 9,000 9,000 0
307 212401 9,000 9,000
TINEET SRS 9,000 9,000
O0l2I0/1E EEESUE D] ¥ 2HaE 9,000
SRDEE OISS HYDS N 10,000 10,000 0
307 212+01 10,000 10,000
TIEET SRS 10,000 10,000
OPSuAR OISt HYns N 10,000
OI2I0IE BAK %225 18,000 18,000
307 212401 18,000 18,000
04 QI AAI 18,000 18,000
OO0ZI0IE BAX o223} oz 18,000
S AHIAXIS 13,000 10,000 3,000
201 et 13,000 10,000 3,000
01 Al RF21H| 13,000 10,000 3,000
FEAMY SHRK ROl 13,000
ENEIEEESTE 9,000 9,000 0
307 21201 9,000 9,000
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e EVE S =N
Az B AHIA AR
ChSl: Tl BRAUIA S (o) @)
AR 2N B . O9(3H) - NBAY - BES ofl b0 dE= MimE=EY
d=- A -85 - d F S . 0l &2 s
11 AISISXAIEE X 9,000 9,000 0
ONEI0IE THILH AN 9,000
S38 el 0l ZINEHl XA 25,200 12,000 13,200
403 RIXIHASA=0H 25,200 12,000 13,200
01 AEXISHX A2 E X 25,200 12,000 13,200
O=380elold sZisdl XA 25,200
B=NAJ HLLIMAH X3 2,541,586 2,541,586
308 AXISHHSOIA 2,541,586 2,541,586
01 AIXSHHEAMERZS 2,541,586 2,541,586
OEEnAJ H2MHHl X3 2,541,586
BRNAR )25 X 292,768 219,575 73,193
308 AXIHHSOIA 292,768 219,575 73,193
01 AXISHNEAEEXZ 292,768 219,575 73,193
OBsNZa A)|2s45 XS 292,768
BRUAR AIZIRZ2R2E X3 556,832 474,105 82,727
308 AXISHHMSOIH 556,832 474,105 82,727
01 AIXHMEANEEZ 556,832 474,105 82,727
OB=xndA ARAZ24Y XA 556,832
OO ENE 018 22X o124d] XI& 86,562 84,462 2,100
308 AXIHHMSOIA 86,562 84,462 2,100
01 AEXSHHEAMERZS 86,562 84,462 2,100
OZOHOIMZ20 el 0l d & & 21| X 86,562
SHEO Mol IH2Y X 96,000 84,480 11,520
308 XAXIHHSOIA 96,000 84,480 11,520
01 AXIHNEAEEXZ 96,000 84,480 11,520
Os8HEo! Mol X229 X 96,000
oelold olold=E(Es) =201 X 518,736 505, 161 13,575
308 AXIHHSOIA 518,736 505, 161 13,575
01 AIXHMEANEEZ 518,736 505, 161 13,575
O02Iolg otojeie(Es) =20] X 518,736
oHelold otdBHE BXE K& 38,970 38,970 0
308 AXIHHMSOIA 38,970 38,970
01 AEXSHHEAMERZS 38,970 38,970
O0elold &S HE SHEXA 38,970
g0l BJI183&D| 29H| X 172,495 155,397 17,098
308 XAXIHHSOIA 172,495 155,397 17,098
01 AXIHNEAEEXZ 172,495 155,397 17,098
ooglold 3J1838)| 294l XA 172,495
S5 HE0ld SSgEAY =2 20,000 20,000
308 AXIHHSOIA 20,000 20,000
01 AIXHMEANEEZ 20,000 20,000




221=%2 SN =XHHY
EFEAMEIA K&
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Al 018018 THMIZ=el& XI3AY 10,000 97,597 A\87,597
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01 XN BSELES 10,000 97,597 A\87,597
OANZ Oj2I01% CHEIZ2IR XIZAre) 10,000
SE S FANS ExWAA o128 X 120,000 395,718 N275,718
308 AtXIEHMSOIE 120,000 395,718 A275,718
01 AXEH B EES 120,000 395,718 A275,718
Os& s FoAXd ExsuA 21A4d| N 120,000
Oelold 24 2 Hd 3,360,000 0 3,360,000
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EEEEETTEREEEY 207,373 207,499 A126
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[ 88,129
=S 28,232
T U SE3dERA 2 66,760 65,200 1,560
= 53,408
< 13,352
101 @124H| 66,760 65,200 1,560
= 53,408
& 13,352
02 JIEtAE = 66,760 65,200 1,560
0% OlE=Ergad S8(22H) 66,760
[ 53,408
= 13,352
AT AT SH2CIA HPeH) 49,601 48,450 1,151
s 34,721
s 14,880
101 @124H| 49,601 48,450 1,151
= 34,721
< 14,880
03 SRH(RINAHA) 222+ 49,601 48,450 1,151
ORJIAHS2Z 2N 2= 49,601
—-J=2s 38,233
[ 26,763
= 11,470
- HEFOHI 3,801
s 2,661

_27_




AR BA=XR SN SRE D
B AHSEAY|(SXZH)
ool ol CEEE)
A= 2N - BB S9(S) - HISAY - BES il v A HlDE2
= 1,140
— gAYl 1,680
2 1,176
& 504
-2 520
2 364
= 156
LRSS 3,300
2 2,310
= 9%
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01 ArR2eltl 22,372 23,949 A1,577
OJl=4gH| 9,128
OJI=a| 13,244
202 it 42,840 45,900 13,060
ETET 42,840 45,900 23,060
OJI= 0t 42,840
208 YL =Y 25,800 24,000 1,800
IBEEEEEST 6,600 6,600 0
ORAS=27 6,600
WENE RS 19,200 17,400 1,800
O=XB& D 4,800
OL Q=X It 3,000
OF 0§ =X 2t 3,000
L 4,800
ORI 3,600
WP S (=X 57,214,136 57,098, 170 115,966
TESIEHE 57,214,136 57,098, 170 115,966
TESIEHE 57,214,136 57,098, 170 115,966
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01 JIEFEI T ES 49,689,911 50,502, 451 £812,540
OEB0ISEs|H M5 49,689,911
(PIERES 7,524,225 6,596,719 928,506
01 JI2ES 7,524,225 6,5%,719 928,506
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A= BAHEXZ 2A 0 LoI=EX 0
A 2| e XY
&elr 25X MdlA X (SH9 H2)
A = X ol(& = E-Ill‘jE =
AR RA B OFI(SIH) - IRAY - BES ofl & e HDS2
< 16,611,538
d=g 29 & 59,070 60,654 N1,584
308 AXIHSOIA 59,070 60,654 N1,584
01 AXHH B ELES 59,070 60,654 A1,584
OZzg g =g K& 44,814
OZzY 3% W= 14,256
2 HLH|(23H]) X2 6,639,100 5,007,911 1,631,189
= 5,107,000
< 1,532,100
308 AAISHSOIX 6,639,100 5,007,911 1,631,189
= 5,107,000
< 1,532,100
01 XN BSEES 6,639,100 5,007,911 1,631,189
OZ2g HHEHI(22H) X 6,639, 100
= 5,107,000
< 1,532,100
d2Y ZAXdH 2 300,000 295,008 4,992
= 150,000
< 150,000
307 e12+0l1d 300,000 295,008 4,992
= 150,000
< 150,000
1 AMEXMSEE 300,000 295,008 4,992
OZ2Y 2T 3HH 29 300,000
= 150,000
< 150,000
d2Y =3 T2y 2|l I 121,757 118,423 3,34
308 ARISHMSOIE 121,757 118,423 3,34
01 XSS Ex= 121,757 118,423 3,334
OZ2Y &3 Z2dy 2eled X 121,757
d2d 0It23 ZA XA 1,729,124 1,688,112 41,012
307 e12+0ld 27,000 30,000 3,000
1 AMISETMLER 27,000 30,000 3,000
OZ=d gdal 12 188 H3] 27,000
308 ARISM SOOI 1,702,124 1,658,112 44,012
01 XN BSEES 1,702,124 1,658,112 44,012
OZ=2E 023 AL X1 1,702,124
OIS SESMEIA(AIZ) 26,566,460 24,403,036 2,163,424
z 23,539,900
< 3,026,560
308 XXM SOIA 26,566,460 24,408,036 2,163,424
z 23,539,900

_32_




d=x= SH =X
&

IIE wME X9
==X MHIA X2 (St &)
CRA - IB - BRI(EA) - NRAY - BaS ofl &4 G o HIDEY
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OLoIXE=SAEA 29 26,566,460
[ 23,539,900
== 3,026,560
LOXESESMEIA ZAXRI 2 2 151,370 146,940 4,430
s 105,960
S 45,410
307 212t01d 151,370 146,940 4,430
= 105,960
= 45,410
11 ARIS XA 2 X 151,370 146,940 4,430
OkolgtsssSAtlA Z29X2012 2 151,370
Fas 105,960
= 45,410
S5E H2U=s SAE 420,000 900,000 A\480,000
308 AHXIHMSO0IA 420,000 900,000 480,000
01 AIXHHBAELS 420,000 900,000 480,000
OE=d o=2tss SaAg 420,000
SN0l - Zofe SSUHECHAMUIA(AIZ) 1,745,570 1,416,807 328,763
= 1,454,639
S 290,931
308 XXIHMSOIA 1,745,570 1,416,807 328,763
= 1,454,639
< 290,931
01 X SHHNEAEXS 1,745,570 1,416,807 328,763

& 1,745,570
[ 1,454,639
< 290,931
M0l - Z0He! SSHMOAANHIA 29I 2 35,483 34,269 1,214
= 16,542
< 18,941
307 212t01™ 35,483 34,269 1,214
Fas 16,542
< 18,941
10 MEISXAEHE2EHIEX 2,400 2,400 0
O=Hel - e sstatyAdlA &
AXAI 2 2 X (KHA) 2,400
11 ARRIZXAIE 2= 33,083 31,869 1,214
OSHOl - el SSHEMMHIA &
ARAI 2 2S 33,083
= 16,542
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M Lel=EX 0

' L ERI(EH) - MSANY - BAS of v G o HIDE2
03 & 1,800 1,800 0
Ookel eIsSA 1,800
202 04t 1,500 3,000 21,500
01 =LHOHI 1,500 3,000 1,500
oo CISH =& 04l 1,500
307 212+0| 10,000 18,000 /8,000
1 Atel= 10,000 0 10,000
orod 10,000
KX & 45,000 45,000
= 45,000 45,000
& 45,000
2,700 2,700 0
2,700 2,700
2,700 2,700
AHAH W= X 2,700
158,800 276,000 A117,200
158,800 276,000 A117,200
158,800 276,000 A117,200
158,800
692,250 0 692,250
= 532,500
=S 159,750
692,250 0 692,250
= 532,500
< 159,750
692,250 0 692,250
& 692,250
= 532,500
= 159,750
oz == SEAIAME 20,000 0 20,000
= 10,000
= 10,000
20,000 0 20,000
= 10,000
s 10,000
20,000 0 20,000
el 2ok 20,000
= 10,000
[ 10,000
I3 SFAIS (SR 327,824 0 327,824
= 327,824
403 AbXIEH 327,824 0 327,824




A= EA=K= A 0 ==X
M S| L2ME XJ
&l L2EX MHIA X2 (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SmoETAreER e T == B Ol &0 ==
= 327,824
01 X SHH =2 E xR 327,824 0 327,824
07.9.~19. S0l SPAIS(SJAIK) 327,824
= 327,824
LOIEXIAIE XA 34,568,600 36,342,894 A1,774,294
= 583,004
s 178,640
S 33,806,956
LOISTIAE JIs23 160,000 0 160,000
s 80,000
L= 80,000
403 T HSTH=01A 160,000 0 160,000
s 80,000
L= 80,000
01 AXIHHA=2 2 160,000 0 160,000
O=XAIE JIsE 160,000
s 80,000
S 80,000
LOIMEAISE K& (MEALY) 2,495,352 2,243,927 251,425
308 XXM SOOI 2,495,352 2,243,927 251,425
01 AXHHBAELS 2,495,352 2,243,927 251,425
OLQAZ AL 29 2,495,352
CRIEDIRAI 2 AIESH XA 30,562,250 32,130,585 1,568,335
308 XXIHMSOIA 30,562,250 32,130,585 1,568,335
01 AX N ELS 30,562,250 32,130,585 N1,568,335
OLQEI|RI|I2 AIEd=0H X 30,562,250
LoIEsdREI2 29 919,000 884,686 34,314
= 459,500
S 459,500
307 QIztol ™ 919,000 884,686 34,314
= 459,500
S 459,500
05 QI”IRIE S 919,000 884,686 34,314
OLEsdRI |2 2Y 919,000
= 459,500
S 459,500
Sttiolohcol ¥ 8 &H 247,008 237,440 9,568
= 123,504
< 123,504
307 212t01& 247,008 237,440 9,568
= 123,504
S 123,504
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g
HD: 20|a CEME K|E
el =eIsXAE X3 (SH9 H2)
AR SA . O(BH) - HRAY - BAS ofl b dE= HDS2
d= - FA - 35 = 945 . 0l & =
05 QIZtREZ 247,008 237,440 9,568
Ostini=old sy 89 247,008
= 123,504
= 123,504
LOISXIAIE SAHAF B1E 9,000 9,000 0
307 S1ZH0| & 9,000 9,000
11 ASISAIAIREE X 9,000 9,000
OLO=XAIE SAHAH = 9,000
LOISEAIAIE N&EEA 4,500 5,000 A500
202 04| 4,500 5,000 A500
01 2L Y| 4,500 5,000 A500
OL2=XX4E NEEA (] 4,500
QUAESAF 2H 3,802 4,220 A418
201 LBr2Ab| 1,512 1,680 A 168
01 AFR22t2ldl 1,512 1,680 A 168
ORLAZBS A HRFE =3H| 1,512
202 04| 2,250 2,500 A250
01 2| 2,250 2,500 A250
ORALBSAF AIEEH Y] 2,250
301 LEIEXNZ= 40 40
11 HAMAHIXI R 2 40 40
ORLALBSAF ME0IE ZoHISHAEHI 40
AN |2 EIIAL AX| 167,688 0 167,688
rag 98,640
= 69,048
403 XSS AH=0| & 167,688 0 167,688
ray 98,640
= 69,048
01 RIXISH A2 R 167,688 0 167,688
O&IIRAI |2 BIIAIE X 167,688
s 98,640
& 69,048
HESAAY| (==X 1) 136,561 150, 161 A 13,600
= 14,790
o= 121,771
ol 2| 113,271 110,874 2,397
= 14,790
& 98,481
QIESAH|(QUYB S A ME0la) 57,298 56,240 1,058
101 Q124b| 57,298 56,240 1,058
03 22 (2I|H)2EXNE 4 57,298 56,240 1,058
ORINHLZ22 X2+ 57,298
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a2 PA== 2A L L=
Mz M HAH|(Le1=2X 1)
el i Eg| (Gt H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
-JIiE= 3,479,510&x1H x 122 41,755
—H&, ot 52204
19,6053 *150%* 15A1 2Fx 1+ 12& 5,294
PN 19,6053 *BA| 2H* 15 x1H 2,353
—-"HAESOH| 3,479,510 *60%*23] * 1H 4,176
- olesH| 50,0003 x 1 * 122 600
— S MFAH| 140,0003 1128 1,680
—2EIRZ 80,0003 x 1~ 128 960
-IIEY 480
olaEdy|(oldXiel XAH(E EEolad)) 55,973 54,634 1,339
= 14,790
c 41,183
101 Q124d| 55,973 54,634 1,339
= 14,790
= 41,183
03 2RE(RI|H) 2224 55,973 54,634 1,339
ORIHAZZ A E S 55,973
-JIZ2= 55,973
= 14,790
& 41,183
[=&d| 23,290 39,287 A 15,997
J|l2&t| 23,290 39,287 A 15,997
201 LBt AH| 7,990 17,537 N9,547
01 AFR22t2lHl 7,990 17,537 N9,547
OJ12+2H| 3,260
OPIE==1=1] 4,730
202 04| 15,300 21,750 6,450
01 2| 15,300 21,750 6,450
OJ12044| 15,300
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= 113,875
== 113,875
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= 113,875
= 113,875
11 ASISAAIREE X 227,750 222,750 5,000
OFOMRUEXD|D| Al 2telHH 29 227,750
= 113,875
& 113,875
HOHQIEZRD[D| Atell2teldEe 2 (XHAl) 20,000 20,000 0
307 2I2t01™ 20,000 20,000
11 Al SXIAIEE X 20,000 20,000
ORWULEIII| AZIB2IME 2 20,000
ZOHe! THEE DD XA 90,912 85,720 5,192
= 84,570
= 6,342
301 EtEXZ 90,912 85,720 5,192
= 84,570
& 6,342
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OZ e THEE XD XA 90,912
= 84,570
& 6,342
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= 950,030
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301 LEtEX 2 1,116,285 1,116,286 A
= 950,030
= 166,255
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OZoHel o|2H| K& 1,116,285
= 950,030
& 166,255
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OZ=4 U AT 2 16,920
SOIEOHel BRI 29 48,000 43,200 4,800
308 AXIHHSOIA 48,000 43,200 4,800
01 JXISHMBAEEZ 48,000 43,200 4,800
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D EA=SEX= A ZOH=X 1
C e =XsA

DOHOHR! Ao B oy (SH9 H2)
224 - BB C(EN) - HRAY - BES ofl &4 G o HIDEY
< 3,99%
301 22N = 35,076 35,550 NATA
= 31,080
= 3,9%
01 Al EE A GIZS (2 DEXTHE) 35,076 35,550 AN4T4
O & EaHIE X2 35,076
= 31,080
= 3,99
CEZ0He! WSAIHXR 108,288 104,733 3,555
= 92,442
= 15,846
308 AHXIEMSOIE 108,288 104,733 3,555
= 92,442
< 15,846
01 X SHHBAEXS 108,288 104,733 3,555
OWdZoe wsAtd X 108,288
= 92,442
== 15,846
STT0Y NSHUSXRAAMS 476,372 466,407 9,965
= 328,532
S 147,840
308 AHXIEMSOIH 476,372 466,407 9,965
= 328,532
< 147,840
01 AX N ELS 476,372 466,407 9,965
OSSEMY NS 476,372
= 328,532
= 147,840
ST NSHHEXE =IO 60,000 30,000 30,000
308 AHXIHMSO0IA 60,000 30,000 30,000
01 RSN B EES 60,000 30,000 30,000
OSSO NSHSXA I 60,000
ST NSdEdHEH 2 232,000 208,000 24,000
308 AtXIEMSOIH 232,000 208,000 24,000
01 HXEHH B EES 232,000 208,000 24,000
OSSHMH NHSdEHH 22 232,000
SENSHAEMH 24 30,000 30,000
308 AtAIEHMSOIE 30,000 30,000
01 X SHHBAEXS 30,000 30,000
OS=IEHAEHH 22 30,000
Hofelw=Hl X 80,000 64,000 16,000
308 AHXIHMS0IA 80,000 64,000 16,000
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A= BHA=EXS 2A  Hoels Xt
M HOHR EXSE
el Zojel Aol & g (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
01 AXIEHZAExS 80,000 64,000 16,000
OFelnsy| K& 80,000
ZOHCIDIEXAEEH 23 294,600 281,032 13,568
307 QI2tol ™ 294,600 281,032 13,568
05 QIZtRIEI S 294,600 281,032 13,568
O% HOHeIIEXAHH 22 294,600
ZOHR! ESXA FIHKIZ A 1,070,946 717,604 353,342
308 AXIHMISO0I & 1,070,946 717,604 353,342
01 AXIEHBLEES 1,058,425 706,083 352,342
OZOoie sKA FIKAS 1,058,425
13 I 2SO E &R S AL I 12,521 11,521 1,000
OZZZ0R! 0I8A(HIRH) fE=2 12,521
ANZZOICIDIE JtAXISSH XD K& 6,200 7,000 A800
301 LetEEZ 6,200 7,000 A800
02 ABIEZAGIZ(FAAS, RLTHR) 6,200 7,000 A800
OAZZOHCIOIY tAKISSE XHED] RI& 6,200
HEHEAMEIA K& 3,599,661 3,433,656 166,005
= 3,189,572
& 410,089
301 LEBNZ 3,599,661 3,433,656 166,005
= 3,189,572
& 410,089
01 MBI BEA62(2DEXTHA) 3,599,661 3,433,656 166,005
OF0Ots LEMEMYIA XA 3,599,661
= 3,189,572
= 410,089
OIS 2=XA 4,189,556 3,671,831 517,725
= 2,932,689
T 1,256,867
307 gIzHol 4,189,556 3,671,831 517,725
= 2,932,689
& 1,256,867
1 ASI=SXAIEEE 4,189,556 3,671,831 517,725
OZoot=E LI 4,189,556
= 2,932,689
= 1,256,867
HAHYLHRH™ At 31,086 31,087 A
= 27,545
T 3,541
301 LEBEF 31,086 31,087 A
= 27,545
& 3,541




o
il
oF
)

“ < & %
no 1) < w o
Klo o S = 0
G > o
D o
S
= g S
= = <
& = . s
S S -
1) 8 < ~
LH3r 8 S A < = —
= - a3 g - 8 Q
= g 5 - 2
N N © =
3 ® 8 &l
8L
N B 28 8|8 8 8|8
55 N @88 n S oo S 8 8|13
3 3%4@%4,9,505ﬁmmmm44
2 3%%4,5,5,7,7,0ﬁﬂmmmm
5 B9M%%mwwm71wmmmmm 2
o 8 3|2 § g2
68988 9|58 9|8 3 8 8(888|8
g & ¢|§ > Qe < S 8
— N © Ql > O oS S S 8
& 2 LI & ~ <~ S|S S
I SRBIERBIEE
H oA oW 5 B O
r
or W mro
3 L L
Y W
. m W wo
o o S
=z |=F
T _
z |= —~ =2
ol [ T R
= [B 3 s = )
il IR o 4 3l 5
o |7z = W__mm < -
o 0 i I o 2 of -
u N e <0 m - &= a 2 B
- ar K o = O e 2 & r 2 % %
& R 20 B ] = <5 K zr X =
R [k O o + 0 < Rl N ) R R ur
N N ) Y RO S I S 5 Rl i R0 Ao O X )
T | R ol =4 H R kit = = o) o =) LY ) 0 @
¥ [z © > ofl o O ) i o < A0 ujo S _ 2 v R =
. KO - < ol ol = A RO Mo = = o & S o5
H o Q - O = = ~ v _ o =& = 0o T =
2 pl i < kO Ho o Y = m R ® 5 = = %
A___ ov 8 o O = = ~ W = o uo- i
ol T RO Mo U 60 < = ST
on & o O KO K = ol
3 @ - o =4 0
ol Y - Mo W
i 3 o O
H




od
i’
oF
uJ

S S S & & & & & 1 N N N 5
© o o % & @ &3 &3 & 3
- (@] Al (V) ()] ()] ()] N~ N~ N~
o 8 8 8 = = = s
E
F=)
g g g = = g 5 s S S S S g
S & 22 2 3 2 2 2 2 8 8 8 8
u_.ﬁmm ~ ~ S ~ N ~
RIS
S 3838333333838 |I838338I8838I8II33I(XTS8IJTSIJS IS IS LLG LR L Z8 LR
S 388 83|88 383 8T~ S SS|H = SSIB8BIBS I8 B S I|=S <=8 —|= =388
N~ s [SNEENeN] [SNEENeN] Al A Al ™M Al ™M Al ™M —
FRe3883383883R3 83UV BIFZLIZRREZ|SEE 2822 § 8|3
= 6 6 |B D |66 D |ae- o= |aa =
<
=3
now| oo ow| neow| oW neow| oo W Y wowW| o ow| oW
or
0 o
Y R o
. =
80
= ol 08 _ &
< R = o g=) - o =
s 50 a 3 = & ol PR P -
= 01 =z o = = - K < Kz 01
= al oF U 3l F =< = _&_ - < H o 81
= =] =l = R g 40 £ __%_ =
o] E3 20 mn 0 <0 al u il X u ok 0
= Ho R0 = A = n = 140 n = =
oF il 7 B o= i 5 O x = 0 i ® o
a A > 5 2 10 > =5 O Yo < 2 1
: K I = & u o = o Ll o gr ol o o Rr o) u
®l = = T o = u = o pd] RS o Bl PO L
RO o )] o n )] Al RO j H KO D iy H KO n
° = [ ~ 3 [ ~ o 5 o iof QU 3 J iof QU 3
i ._m___ = Mo U = = [0 ol = ol =< 1l = all =< ol =
I+ g o] o O K0 K o O K0 b pay O R0 S S O K0
. ol ® o 8 o 8 ! 8 !
i A ol ol ol ol
<0




- T/

C e =XsA

=X =

;F?_—ii OOl a2l & Ehat EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT

= 372,075
< 159,461

308 AXIHMSO0IA 531,536 324,629 206,907
= 372,075
< 159,461

18 S 2SS & AEAIE 531,536 324,629 206,907
OZ2el == AHAY 29 531,536
= 372,075
[ 159,461

LR FRUFXIH 66,000 66,000 0
= 33,000
< 33,000

308 XtXIEMSO0IH 66,000 66,000 0
= 33,000
< 33,000

18 S 2SS & ASTAIE 66,000 66,000 0
OgLHMe FLUsKE 66,000
= 33,000
= 33,000

ST LEZOHQ! 24A12F JHE 1:1 X~ 1,993,886 0 1,993,886
= 996,943
e 996,943

307 gIztol & 1,993,886 0 1,993,886
= 996,943
< 996,943

11 Al SXIAIZ E X 1,993,886 0 1,993,886
Oxl=5 LEZTO0NQ 24A12F HE 1:1 XI&A 1,993,886
= 996,943
< 996,943

ZES LETONQY =2t HE 1:1 X 1,121,233 0 1,121,233
= 800,880
[ 320,353

308 RIS M E0IH 1,121,233 0 1,121,233
= 800,880
< 320,353

01 AXHHBLELS 1,121,233 0 1,121,233
Ox|SS LEHH! =2t HE 1:1 X 1,121,233
= 800,880
< 320,353

=SS LEHOQ =2t OF 111 HI*H X 1,404,543 0 1,404,543
= 1,199,000
= 205,543

308 AtXIEMSOIE 1,404,543 0 1,404,543




2 gH=ER= EA ool =Xt

= Zoje sXsd

;F?_—ii ZOHQ! afol & &4t (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

= 1,199,000
= 205,543
01 AXIEHZLAEXS 1,404,543 0 1,404,543
Ozl L2l =2t O 1:1 Bt2H X
& 1,404,543
= 1,199,000
T 205,543
ZEZ L SEHES 2Y N (KNGHEH) 72,000 0 72,000
= 36,000
& 36,000
308 AXIHMSO0I& 72,000 0 72,000
= 36,000
& 36,000
13 I 2SO E &R S AL 72,000 0 72,000
Ox=Z s8=8 2 NA(XNSHH) 72,000
= 36,000
= 36,000
=58 RYMH2ZEMHO0IX FX 22t 7,500 7,500
201 Ler2 | 7,500 7,500
01 At 22|l 7,500 7,500
O==8 FHMHZZEMHOIXN 7XE2el 7,500
Zope! EsXE=2H KA 78,178,032 67,808,024 10,370,008
= 72,006,082
= 6,171,950
308 KXISHMSOIH 78,178,032 67,808,024 10,370,008
= 72,006,082
= 6,171,950
01 AXIEHELAEXS 78,178,032 67,808,024 10,370,008
OZoHel e=sXd= XA 78,178,032
= 72,006,082
T 6,171,950
ZoHel sk Jte=o 1,550,943 540,542 1,010,401
= 1,428,500
& 122,443
308 AXIHMISO0I& 1,550,943 540,542 1,010,401
= 1,428,500
& 122,443
01 AXIEHZAExS 1,550,943 540,542 1,010,401
OZoHel esX& Jatg™ 1,550,943
= 1,428,500
= 122,443
SH=E HoHelgl2 29 167,270 163,190 4,080
307 gI2Hol ™ 167,270 163,190 4,080
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L BA==

ml

2A

g oo XS
el Zojel Aol & g (Gt H2)
AR A O () - HEAIY - BAS2 Of| AkoH g HD=2
SmoETAreER e T == B Ofl &k ==
05 QIZtRE 3 167,270 163,190 4,080
OSI=E oz 29 167,270
SEHML tEE X 51,000 37,152 13,848
308 AXIHMSOIH 51,000 37,152 13,848
01 MASHNBLExES 51,000 37,152 13,848
Oss3ue MHegs X 51,000
Y30l Bdu= =Y 113,400 108,000 5,400
308 XXM SOl 113,400 108,000 5,400
01 MXHMBdEx= 113,400 108,000 5,400
OUgHie! BHW= =Y 113,400
YOI BHNE 208 X2 16,200 16,200 0
308 XXM SOl 16,200 16,200
01 IXHMBdEx= 16,200 16,200
Oy Bdus T2 78 N 16,200
o3 SHIIHE 50,000 0 50,000
207 AA7HE ] 50,000 50,000
01 A2 EHI 50,000 50,000
OSI=E a3 S3I| JI2H= +
8 (2025~2029) 50,000
HOHIHFAIE JISEZ 492,901 9,3%2 483,509
= 289,942
= 202,959
403 MXISHHSEXZ01N 492,901 9,392 483,509
= 289,942
== 202,959
01 XM A2 E X 492,901 9,392 483,509
OHOUMANFAIE JISEH 492,901
= 289,942
< 202,959
ZOIHFAIE 29 41,888,744 40,013,287 1,875,457
= 37,116,609
& 4,772,135
308 ARISHMSOIE 41,888,744 40,013,287 1,875,457
= 37,116,609
= 4,772,135
01 A3 SEXS 41,888,744 40,013,287 1,875,457
O HFAIE 2SN 41,888,744
= 37,116,609
5 4,772,135
Her=2g HOIHFAIZ XIE 313,663 283,984 29,679
308 ARISMSOIE 313,663 283,984 29,679
01 XIS ExS 313,663 283,984 29,679




LT =

A= gr=x=
B ZOHOl =XIS

[ R}
Rl ZOoHQ! ae E gy

2A

A2 2N - FHB . S(3) - HRAY - BE SR Ofl Oﬁ]gﬁ Hnz2
| Odeled FojoliFAL K 313,663
DOHOIIFAIS EIAK NEHES XIS 38,000 26,000 12,000
301 Zere A3 38,000 26,000 12,000
02 A2 X 5SS (FHAAS, NLHA) 38,000 26,000 12,000
OBOJIFAIL E2T NEFES N 38,000
ZOJOINEAIE HAE 2B EHIS N 5,578 7,29 ALTI5
308 AXIHHSOIA 5,578 7,293 A1,715
01 MAEHBEx= 5,578 7,293 21,715
OBNAHFAIL HLE 2BTE S X
e 5,578
O NFAIE XN=EE 2,700 3,000 A300
202 O4dl 2,700 3,000 A300
01 =LH04H 2,700 3,000 A300
OBIHFAIE NEHY 2,700
ZOHRIANFAIL BAMT BT 8,100 8,100
307 212401 8,100 8,100
M ARISAAMHEX 8,100 8,100
OBAHFAIL ENX BT 8,100
ZOHOIIZEAIL 01X I RDS 8,747 8,747
307 @120l & 8,747 8,747
02 QB A HE A 8,747 8,747
OBAHFAIL 018X JADS 8,747
ORI AFAIE AHIYA 018= K& 198,984 198,984 0
= 176,315
S 22,669
308 XXIEHHISOI & 198,964 198,984 0
= 176,315
= 22,669
01 XN B EES 198,984 198,984 0
OBOIHFAIL UYL 018 X2 198,984
= 176,315
= 22,669
ZOHQIHFAIE QI AE AL 15,000 15,000 0
307 2I2t0| & 15,000 15,000
RIEIEPONEEES 15,000 15,000
OBMIHFAIL QAT 15,000
SFEL FALSSI1H 29 257,670 209,100 48,570
= 128,835
= 128,835
307 212401 257,670 208,100 48,570
= 128,836
= 128,835
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=

R L
C e =XsA
D! el &

A== A EOoH

SEAL

g g (Bl &)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
d=-FA-d5%-8 T g . 0l ko s2
ZOHCIDIF=AIZ  |oT, AlE2E SSAY &2H] XId 6,696 6,523 173
= 5,932
< 764
308 AXIHHSOIA 6,696 6,523 173
= 5,932
= 764
01 JIXISHMBABES 6,696 6,523 173
OFOMUHFAIL 0T, AlEtE =AY 29 6,696
= 5,932
& 764
ZoHel THEF=EXIAMHIA 23t 23,084,677 20,314,256 2,770,421
= 12,509, 175
J| 2,335,000
& 8,240,502
ZOHCl MAS THOHAIE 29 X 189,952 175,293 14,659
= 75,981
& 113,971
307 21z2to| ™ 189,952 175,293 14,659
= 75,981
= 113,971
10 AISISXIAIEHAESIHIEX 189,952 175,293 14,659
OOl MAS THHAIE 29 XA 189,952
= 75,981
= 113,971
=2 M0HQ elMD|IE HANIZE X 125,000 125,000
307 S1Zto| & 125,000 125,000
02 OIZHEAAIR B X 125,000 125,000
O== Z0Hel oIMIIE FAHE XIJ 125,000
HOHCl SXIL XA K& 3,952,500 3,741,939 210,561
= 3,040,000
= 912,500
308 AXISHISOIA 3,952,500 3,741,939 210,561
= 3,040,000
< 912,500
01 AIXHMBAMEEZ 3,952,500 3,741,939 210,561
OOl SXLX2IAIS X 3,952,500
= 3,040,000
o= 912,500
ZHOHQ! LB (MU H) L RI2IAIY X 6,036,000 6,278,669 N242 669
= 4,643,000
& 1,393,000
308 AXIHHSOIA 6,036,000 6,278,669 N242 669
= 4,643,000
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=X =

- T/

LIRS E=SS

=)

© e WE=XAHIA 23t (St &)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2

< 1,393,000

01 HASHHBSEEXS 6,036,000 6,278,669 A242,669
OTOHe! Lt (MM LA RIS 6,036,000
= 4,643,000
= 1,393,000

ZOHQ! LBHE (AIZEAN) L AI2IALY KR 1,402,500 1,359,139 43,361
= 1,079,000
=S 323,500

308 XtXIEMSOIH 1,402,500 1,359,139 43,361
= 1,079,000
< 323,500

01 XN B2 LS 1,402,500 1,359,139 43,361
OZOoHe! LA (AIZFM) L R2IAY RIS 1,402,500
= 1,079,000
== 323,500

AI2EEOHQIOHOFAL THAALY 865,200 689,551 175,649
= 805,000
= 60,200

308 XX HMSO0IA 865,200 689,551 175,649
= 805,000
s 60,200

01 XN B2 LS 865,200 689,551 175,649
OAIZ EO0H I QHOFAF THAALS 865,200
= 805,000
[ 60,200

22T QLYESA EX 849,000 711,781 137,219
= 653,000
= 196,000

308 AFAIEHMSOIE 849,000 711,781 137,219
= 653,000
= 196,000

01 AXNBEES 849,000 711,781 137,219
OLSTM QYESAH BX 849,000
= 653,000
== 196,000

JOHAXMSIHEAIE JIS2S 2,564,312 1,424,726 1,129,586
= 1,502,537
= 1,061,775

403 AXIEHHSAH=201H 2,554,312 1,424,726 1,129,586
= 1,502,537
= 1,061,775

01 XISH A= 2,554,312 1,424,726 1,129,586
OZMHAXNATHEANE JISES 2,554,312
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A= BAER=2 A 0 OIS
3 ZoHe SNSH
Rl Q! WE=XAHIA 23t (St &)
A= - 24 - 3 - GRA(3AH) - HRAE - BES Ofl &F2H %E% Hwusz
BeA2 29 162,886 162,760 10,126
308 XXM SOIA 162,886 162,760 10,126
01 XN B2 LS 162,886 162,760 10,126
O8Nz A2 29 162,886
ZOoHeDISHIItHE X 33,000 13,000 20,000
307 212t01& 33,000 13,000 20,000
1 AMEISXAEEXS 33,000 13,000 20,000
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A= BHA=EXS 2A ¢ EAZ
A CoIAUBA
el BASAZAMBIA S (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
308 REXISHMSOIH 16,956 11,304 5,652
01 AXIEH B LAERS 16,956 11,304 5,652
BHAE MEIRA BxUS 16,956
SAIEA EX018 XA 213,544 208,346 5,198
308 KXIHMSOIH 213,544 208,346 5,198
01 AXSHELEES 213,544 208,346 5,198
SHAZA Ex0018 XA 213,544
SIZHIZ=EM AtH 433,370 922,346 A488,976
201 2| 44,000 0 44,000
01 ArR22ltl 44,000 0 44,000
OozHIZ==2HM E2H| 44,000
305 ha=S 256,870 772,346 A515,476
01 & =S 256,870 772,346 Ab515,476
O2izHIZ=2H Dias=s 2H 256,870
307 QI2H0l M 132,500 150,000 A17,500
08 OIXtEXNS 132,500 150,000 217,500
O2ozHl==HM OlXHKI& 132,500
sS=2=J(2 XA 985,920 898,920 87,000
| 790,080
& 195,840
308 AXIHMISO0I& 985,920 898,920 87,000
| 790,080
= 195,840
01 AXIEHEZAEXS 985,920 898,920 87,000
os39zJ1 XA 985,920
| 790,080
& 195,840
FHXl 2SS4 24012 X 1,133,000 1,310,000 A177,000
| 1,133,000
308 RXISHMSOIH 1,133,000 1,310,000 A177,000
| 1,133,000
01 AXIEHBLEES 1,133,000 1,310,000 A177,000
OFAUX S=4 22712 N 1,133,000
| 1,133,000
FHUX FAGE HERA 22 12,900 8,400 4,500
| 12,900
307 QI2Hol A 12,900 8,400 4,500
| 12,900
02 QB AAIEER 12,900 8,400 4,500
OF X 3R HESRZD 2 12,900
| 12,900
g S=S2AZAY 18,000 20,000 A2,000
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CREE =R
COIHUSA
SAOZAHIA gt EER=E)
2. 24 BB . O (30) - NIRAY - BYS A e
308 AXISHHMSOIN 18,000 20,000 A2,000
13 2|20 tHst 18,000 20,000 A2,000
OXE s22=Z A 18,000
S=o = XNJHH 298] X 160,300 157,400 2,900
J| 80, 150
== 80, 150
308 AHXISHHMSOIH 160,300 157,400 2,900
J| 80, 150
& 80, 150
13 S| 2SH tist 160,300 157,400 2,900
Os=22=XIJHH 29| X 160,300
J| 80,150
= 80, 150
OlsssMt2elsed & 29 6,000 6,000 0
308 AHXIHHMSOIH 6,000 6,000
13 I 2SHICHeHE & X2 E ALY 6,000 6,000
O0l=ssZ2Mt2elsd s 29 6,000
AL MEUSE 2GR 27,860 28,000 A 140
J| 19,502
& 8,358
308 AXISHHSOIA 27,860 28,000 A 140
J| 19,502
& 8,358
01 XEXISHHI B A E X 27,860 28,000 A 140
OBAHA JNEUSE 2EX 27,860
J| 19,502
T 8,358
Hutolg RASAIS 29,547 30,200 653
J| 20,683
== 8,864
308 AHXISHHMSOIH 29,547 30,200 653
J| 20,683
& 8,864
13 S |2S0tistE & 29,547 30,200 A\B653
OMHolg RESAY 29,547
J| 20,683
= 8,864
MEHNHEERA 2 XA 83,200 81,000 2,200
J| 41,600
= 41,600
308 AXISHHMSOIH 83,200 81,000 2,200
J| 41,600
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AR BA=NZ SN BAF D
A CoIAUBA
oe: BAoZMHIA st (CH9: &S1)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
& 41,600
13 BI |2 SOICHEH B A X LAE AL 83,200 81,000 2,200
OMEHHEHRA 2 83,200
| 41,600
& 41,600
NsSHESHI| Bz K 90,000 76,800 13,200
| 60,000
= 30,000
403 XX SHHMSK=01H 90,000 76,800 13,200
| 60,000
& 30,000
01 AR AH22 £ 90,000 76,800 13,200
OXsdEsa)| 2= N 90,000
| 60,000
& 30,000
AHAM= S SSHXLSH XA 178,000 120,000 58,000
| 89,000
& 89,000
307 QI2H0| M 178,000 120,000 58,000
| 89,000
& 89,000
02 QIRHHAAIHE X 178,000 120,000 58,000
OtlHAd=s S SSHXILUSH XA 178,000
| 89,000
T 89,000
HAAHEH 2HXIA 3,359,430 3,226,000 133,430
| 3,359,430
307 QI2Hol A 3,359,430 3,226,000 133,430
| 3,359,430
02 QIRHEAAIHEE X 3,359,430 3,226,000 133,430
OdG &Y 2H X 3,389,430
| 3,359,430
3328 HAXNA S= NE =2 560,000 560,000 0
308 AXIHMISO0I& 560,000 560,000
01 AXIEHBLEES 560,000 560,000
O832z HAXNSE 2= NE = 560,000
sS== X 2 306,400 0 306,400
| 125,000
= 181,400
308 REXISHMSOIH 278,400 0 278,400
| 125,000
T 153,400
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A= BHA=EXS A 0 EAEEY
M CRIAASE
Sl ZAZAMAL Jlgtets (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SmoETAreER e T == B Ofl &k ==
| 142,128
= 142,128
FoAHL=XHEH 23 500,780 500,780 0
Pl 357,700
= 143,080
308 KXIHMSOIH 500,780 500,780 0
Il 357,700
< 143,080
01 AXSHHELEELS 500,780 500,780 0
OAlZ BAAZ=XEE 23 500,780
J| 357,700
= 143,080
FUAUERNEH lE=tE 6,701,620 6,485,263 216,357
| 4,502,000
= 2,199,620
307 212t01 & 1,329,400 1,301,976 27,424
Il 664,700
& 664,700
05 2IR”IAE S 1,329,400 1,301,976 27,424
OZAFUALEXNME Q1A ES 1,329,400
| 664,700
= 664,700
308 RXIHMSOIH 5,372,220 5,183,287 188,933
| 3,837,300
= 1,534,920
01 XN ELS 5,372,220 5,183,287 188,933
OAlZ BUAZSXHE Es 5,372,220
| 3,837,300
= 1,534,920
FUAL=RNEE S SAA HIHEH] XA 139,200 124,920 14,280
307 212t01 & 38,400 36,720 1,680
03 EIRIHEAXNHE2EHIE XL 38,400 36,720 1,680
OZ HAAL=XHEH HSINA L] 38,400
308 XXM SO0l 100,800 88,200 12,600
01 AXHHBAELS 100,800 88,200 12,600
OAlZ ZAAZ=XNHEH HMAL] 100,800
SAIAEE X2 X3 A 68,600 71,102 A2,502
= 49,000
= 19,600
308 XXIHMSOIA 68,600 71,102 A2,502
= 49,000
< 19,600
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Az BASK= 2A  BAZ
HE: CRIHASH
Sl ZAZAMAL Jlgtets (SH9 H2)
A= 2A - 3. SR(3) - MIRAY - BES Off &K %E% HusZ
01 MXSHHBAEERS 68,600 71,102 22,502
O &s 1=l XA 68,600
= 49,000
= 19,600
RAANE 2 A 9,314,600 9,016,000 298,600
= 8,150,000
== 1,164,600
308 KEXIEHHMSOIH 9,314,600 9,016,000 298,600
= 8,150,000
= 1,164,600
01 AXHHBAELS 9,314,600 9,016,000 298,600
OFLRQLAE 2 X 9,314,600
= 8,150,000
S 1,164,600
NASEE SEFUALSTAY 2,374,000 2,480,826 ~106,826
Pl 1,536,500
= 837,500
307 212+01™ 743,000 671,3% 71,604
| 371,500
== 371,500
05 BIZt2(Er = 743,000 671,3% 71,604
OZd NAXEE SETHUALSEA 743,000
) 371,500
= 371,500
308 XXM SOIA 1,631,000 1,809,430 A178,430
| 1,165,000
(= 466,000
01 AXHHBAELS 1,631,000 1,809,430 A178,430
OAZ NSXES SSEUALSTA 1,631,000
Il 1,165,000
= 466,000
FUEAHANE JIsES 104,500 235,242 A130,742
= 104,500
403 MHXIEMS =01 104,500 235,242 A130,742
= 104,500
01 IXISHHAE2ER 104,500 235,242 A130,742
OFAEHAIE JIsEZ 104,500
= 104,500
FAAL=SXMEH N HEAIY K& 684,464 643,382 41,082
2l 44,432
S 240,032
307 212t01& 207,530 207,530 0
| 103,765
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AR BA=XR S RN E-Eh!
Hm: COAASE
Sl FAUEATA L JletEE (SH9 H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
= 103,765
05 OIZt2|EZ2 207,530 207,530 0
OZAJAMAU=SKIHE KHA0EAIY XI& 207,530
J| 103,765
& 103,765
308 AXIHHSOIA 476,934 435,852 41,082
J| 340,667
= 136,267
01 AIXHAMBAMEERZ 476,934 435,852 41,082
OAZEAMAL=SR|HE KHAOIEAIY X 476,934
J| 340,667
= 136,267
AU LA R AL SEAS 32,000 32,000 0
J| 32,000
307 21Z2t0| ™ 32,000 32,000 0
J| 32,000
05 QI2IRIE= 32,000 32,000 0
OXHAHHE A 2R HAHLS XA 32,000
J| 32,000
Ao & AL SEAS 400,828 397,037 3,791
J| 308,329
& 92,499
308 AXIHHMSOIA 400,828 397,037 3,791
J| 308,329
& 92,49
01 AIXHAMBAEERZ 400,828 397,037 3,791
OX& N &Y HAHAUASEAS 400,828
J| 308,329
< 92,49
AAAE X S2 WX 2| XIS 45,900 45,900
301 LEtEX 2 45,900 45,900
02 A2 & X252 (FAHS, NLHE) 45,900 45,900
OXaAE X SSHLXIZH] A& 45,900
KNSAS AHAME HIERID 25 18,000 18,000
307 2I12+0| & 3,000 3,000
05 QI2IRIE= 3,000 3,000
OXIYAte] THANE HERD RE(2Y) 3,000
308 AXIHHSOIA 15,000 15,000
01 AIXHHMBAEEZ 15,000 15,000
OXYGAIE A&l HERA 5 15,000
SESEA g2l XA 108,000 108,000
301 LEtEX 2 108,000 108,000 0
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A= BAHSI= SN BAZY
M CQIHABE
Sl FAUEATA L JletEE (SH9 H2)
A= - BA - Y HA(SAH) - NRAMNY - BES Off &4 %E% BlunsZ
02 A2 EH LGS (FHAAHS, XNSWE) 108,000 108,000 0
ORSTE Mgaelyl X 108,000
MaRE JAAS MEIA X2 661,941 747,700 A\85,759
Il 386,000
== 275,941
307 @120l & 405,138 439,700 A34,562
Jl 202,569
= 202,569
05 2IR”IRIE = 405,138 439,700 A34,562
OtaRE AAS MHIA K& 405,138
Il 202,569
S 202,569
308 AHXIEMSOIH 256,803 308,000 A51,197
Il 183,431
[ 73,372
01 HXHHBAEES 256,803 308,000 A51,197
OTtaRE dAS MHIA X2 256,803
Il 183,431
= 73,372
SS2ACISSHNZNH 29 356,127 348,367 7,760
= 207,987
= 148,140
307 212t01™ 244,984 239,570 5,414
= 122,492
== 122,492
05 21t =S 244,984 239,570 5,414
OZos=2cISEXEHH 29 244,984
= 122,492
== 122,492
308 AXIHMSO0IA 111,143 108,797 2,346
= 85,49%
= 25,648
01 XN EES 11,143 108,797 2,346
OS=2ULISEXJUH 29 111,143
= 85,495
S 25,648
Metalel XI=Hl KIJA 52,500 52,500
301 LEENS 52,500 52,500
02 A2 XSG (FHAAHS, NSWE) 52,500 52,500
OMEaRIXIZHl XA 52,500
Ot e 2 A& 7,078,559 7,018,119 60,440
Jl 6,741,485




A= EA=K= A 0 EAEEY
M CRIAASE
Sl FAUEATA L JletEE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SmoETAreER e T == B Ofl &k ==
< 337,074
308 KXIHMSOIH 7,078,559 7,018,119 60,440
Il 6,741,485
S 337,074
01 X HHBLEEF 7,078,559 7,018,119 60,440
OXIOfeta My 2S K& 7,078,559
J| 6,741,485
S 337,074
XIHXI 2 2cldl(%HMEl) XI2H(HEAL) 1,261,000 1,261,000 0
301 LEt2E S 1,261,000 1,261,000
02 A EEABS(FANS, XLTHR) 1,261,000 1,261,000
OXIOiXIZ2elg(ZHEl) X 1,261,000
XIOHEXt SSHE K& 198,439 198,439 0
308 AXIHMSOIA 198,439 198,439
01 AXSHHELEXS 198,439 198,439
OXINEX ssHz X 198,439
X0 QIADHA X 28,000 28,000 0
308 KFXIEHMSO0IS 28,000 28,000
01 AXHHBAELS 28,000 28,000
OXNMeE 2208 23 28,000
ZAEXIHME 29 623,74 612,313 11,481
| 436,656
= 187,138
307 212t01 & 623,794 612,313 11,481
Il 436,656
& 187,138
05 2I”IAE S 623,794 612,313 11,481
O=EEL Zaxijdy 2 XA 623,7%
Il 436,656
S 187,138
Aol S5=4 K& 28,269 27,861 408
J| 26,923
S 1,346
308 AXIHMSOIA 28,269 27,861 408
| 26,923
= 1,346
01 AXHHBAELS 28,269 27,861 408
OXlfcel B2=H K& 28,269
Il 26,923
= 1,346
SESE Z9XIMHEH SAEL MLl X 9,600 9,600
307 QIztol ™ 9,600 9,600 0
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2 =R A EAEY
Hu: M2l (HARMY)
el i Eg| (Gt H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b S2
—HHFAH| 1,680
J| 840
< 840
—2BIR2 630
J| 315
& 315
—-ielEsEg| 600
J| 300
= 300
J|l2&t| 58,225 58,183 42
J|2dH|(BAHE =D} 58,225 58,183 42
201 LB AH| 19,975 19,514 461
01 AtR22t2|H| 19,975 19,514 461
OJ|12+Ehl 8,150
(@PIE==1="1:] 11,825
202 044| 38,250 37,400 850
01 2L | 38,250 37,400 850
OJ120| 38,250
Hess(2HF M) 221,000 228,000 AT7,000
== DN ES 221,000 228,000 A7,000
LHEH KIS 221,000 228,000 A7,000
705 Oll=2 2| 2AE 221,000 228,000 A7,000
03 Al - EXGED |20 =224 200,000 200,000 0
OFFAZ A HAYEs s A= 200,000
04 Al - SXISOHED | 2022 0| AHALSH 21,000 28,000 7,000
OF=Fogd MYs 8§ Ax 21,000
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A= BHA=EXS A ZEE2e|
A CoIAUBA
Rl Z2ggugasgst EEREE)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
| 28,080
308 AXIHMSOI & 28,080 117,000 288,920
| 28,080
01 AXIEHEZAExS 28,080 117,000 288,920
Oozzaddyd HE2ZAINAH 29 28,080
| 28,080
oIy Z22 AN 23 (294!) 2,400 2,000 400
| 2,400
308 AXIHMSOIA 2,400 2,000 400
| 2,400
01 AXIEHELAERS 2,400 2,000 400
Oolza&p2day T2 A 22 (2gl
) 2,400
| 2,400
Zelxlg 289 LAXZLI 26,000 36,000 210,000
= 13,000
& 13,000
307 QI2H0l M 26,000 36,000 210,000
= 13,000
& 13,000
01 2= ¥ 3I=H| 26,000 36,000 210,000
Helxlg 288 gRAXI=I 26,000
= 13,000
& 13,000
ABUAEY LAY 52X 84,000 97,000 A 13,000
| 84,000
307 gI2Hol ™ 84,000 97,000 A 13,000
| 84,000
02 QIRHHAAIHE X 84,000 97,000 A 13,000
OdlE2gY dAXsHA &S5RI 84,000
| 84,000
ZdEgae| s 28 X2 610,000 607,000 3,000
= 305,000
= 305,000
307 QI2Hol M 610,000 607,000 3,000
= 305,000
T 305,000
05 QItRE S 610,000 607,000 3,000
OoZggaelNdHt 248 XA 610,000
= 305,000
& 305,000
M2H =SUHSRE U L =4 XA 27,200 26,400 800
| 13,600




A= BHA=EXS A ZEE2e|
A CoIAUBA
Chel: ZFEHuLESLE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SmoETAreER e T == B Ofl &k ==
= 13,600
308 AXIHMSOI & 27,200 26,400 800
| 13,600
< 13,600
01 AXIEHBLEES 27,200 26,400 800
OdZHH =sHERA =] 27,200
| 13,600
= 13,600
XS0l J|MSE S TA 8,232 7,190 1,042
= 8,232
308 AXIHMISO0I & 8,232 7,190 1,042
= 8,232
01 XN EXS 8,232 7,190 1,042
ORIEXNE=0 J|MEHSH ZA 8,232
= 8,232
2eg g8 & 2AEs 2ot 11,200 14,100 22,900
201 ZEH2 & 7,000 8,100 21,100
01 ArR2eltl 7,000 8,100 21,100
o228 HEs 6,000
Ograg| 22 g2| 1,000
202 04d| 4,200 6,000 1,800
01 2LHO LI 4,200 6,000 21,800
OZEEEE & ZAIES 0l 4,200
LAss 23t 50,000 50,000
206 M= 4l 50,000 50,000
01 M=l 50,000 50,000
Ooggaz ¢ 50,000
OIOI= Ol AL 25,000 36,450 211,450
307 QI2Hol 25,000 36,450 A11,450
02 QIRHEAAIHE X 25,000 36,450 211,450
Oulolx e & =2u=s 25,000
OlloI= & Lo 345,371 274,731 70,640
| 265,670
= 79,701
308 KEXIHMSOIH 345,371 274,731 70,640
| 265,670
= 79,701
01 AXIEHELAExS 345,371 274,731 70,640
OO0l & HHUZALS 345,371
| 265,670
= 79,701
SHAICL RIZ ALY 140,000 126,000 14,000
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HMEE
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10,000
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75,480

75,480
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14,000
14,000
14,000
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36,000
36,000

Ofl &F2H

140,000
140,000
140,000

10,000
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10,000
10,000
63,336
31,668
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31,668
63,336
63,336
31,668
31,668
68,400
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68,400
68,400
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i

fir
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1,000
1,000
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14,000
14,000
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147,000
147,000
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A= BAEXR A ZEgael
M SoIHASA
Chel: ZFEHuLESLE (SH9 H2)
A - 24 - 38 - HA(3) - MM - BES Oi &k %E% HwEZ
7 11,400
= 11,400
201 22 2,000 4,000 22,000
| 1,000
= 1,000
01 AFR2t2ltl 2,000 4,000 A2,000
OsEs H&E S 2,000
| 1,000
[ 1,000
202 04t 1,200 1,200 0
| 600
s 600
01 2LHOLI 1,200 1,200 0
Oz |g2FE ol 1,200
| 600
= 600
303 Zat=a 3,600 3,600 0
| 1,800
[ 1,800
01 Z&3 3,600 3,600 0
OZzsize| @402 L&t 3,600
| 1,800
= 1,800
307 212t01 & 16,000 20,000 24,000
| 8,000
= 8,000
0122 & 3=l 16,000 20,000 24,000
OZSHRICH AZIH| L Alet 16,000
| 8,000
[ 8,000
ANZZSHO L ALS 705,389 875,166 N169,777
| 628,518
= 76,871
308 AXIHMSO0I& 705,389 875,166 N169,777
) 628,518
= 76,871
01 AXIHHBAELS 705,389 875,166 A169,777
OAlZ ZSH0I LA 705,389
| 628,518
= 76,871
oI2J|2t ZH &AL ArY 301,472 367,650 166,178
| 301,472
308 KXISHMSOIH 301,472 367,650 266,178




Az BASK= SA g2
HE: CRIHASH
el 2Zgugasdst (SH9 H2)
A= 2A - 3. SR(3) - MIRAY - BES Off &K %E% HusZ
Il 301,472
01 X HHNEAEXS 301,472 367,650 N66,178
OgzJl2t Zaizte| Aty 301,472
| 301,472
A ES &Al 16,304,584 15,635,424 669, 160
Il 12,541,986
(= 3,762,598
308 RXIHMSOIH 16,304,584 15,635,424 669, 160
| 12,541,986
== 3,762,598
01 AXSHHBAELS 16,304,584 15,635,424 669, 160
O=J1HLEES AAl 16,304,584
) 12,541,986
= 3,762,598
AZHEES SS22 X 191,982 190,680 1,302
| 191,982
308 KXIEHMSO0IS 191,982 190,680 1,302
) 191,982
01 MK N ELS 191,982 190,680 1,302
OAlzZHZEEE SS2el X 191,982
Il 191,982
SIED] OHOH 2SS olg2el 4,400 6,200 A1,800
Pl 4,400
308 XXM SO0l 4,400 6,200 1,800
J| 4,400
01 XN LEXS 4,400 6,200 1,800
OTED] HOH 28 olgztel 4,400
| 4,400
DZLHY HILES olaets AEU8E 29 2,520 6,720 24,200
201 LEr2| 2,520 6,720 24,200
01 ArR2eltl 2,520 6,720 A4,200
OZZLHY GILESE 01EIS AAsE 2,520
VL EE SEAY oA &=H| 640 640 0
J| 204
= 436
202 044l 600 600 0
Il 191
S 409
01 2oL 600 600 0
OFIMILEE SEAY dEe= ol 600
| 191
= 409




A= BA=EX=Z SN - Zggal
Hm: COAASE
el 2Zgugasdst (SH9 H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o = ofl &b =
301 LEtEXZ 40 40 0
J| 13
< 27
11 HAMAHIAI R 2 40 40 0
O=ZIEUE S SEAIY Mo 2=
SHAFAH] 40
J| 13
& 27
ZEHRAL|AIY ME0IE SEH| 2,000 2,540 540
J| 658
= 1,342
202 04b| 1,960 2,500 AB40
J| 645
< 1,315
01 =ZLHM Y| 1,960 2,500 A540
OZsHA| ALY M= (b 1,960
J| 645
= 1,315
301 EtEAZ 40 40 0
J| 13
& 27
11 HAFAHI XA Z 40 40 0
OZdH2ALAME MEIH ZHISEHAIZHI 40
J| 13
= 27
DZLHI I E S A& 2,743,000 6,554,600 A3,811,600
= 2,110,000
= 633,000
308 AXISHHSOIA 2,743,000 6,554,600 A3,811,600
= 2,110,000
& 633,000
01 AIXISHHEAMNEXZS 2,743,000 6,554,600 A3,811,600
OZZLHI I E S AlgH] 2,743,000
= 2,110,000
& 633,000
areteloF DHOHE D! S DHOHAl ZAIZ=D] &= 32,500 32,500 0
= 32,500
403 XIS S AH=0| ™ 32,500 32,500 0
= 32,500
01 RIXISH A =2E R 32,500 32,500 0
OZetelor BHIHZI| S DHIHA ZAIFI| &
= 32,500
= 32,500
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a2 BA=x3 SN 2EERRD
Hm: COAASE
=&t sHEEAL X (SH &)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
S|HE &I K& 1,375,439 2,338,212 ANB2,773
J| 1,058,030
< 317,409
SIHHUXILEEEX 2SH|I X 1,375,439 2,338,212 NB2,773
J| 1,058,030
= 317,409
308 AXIHHSOIA 1,375,439 2,338,212 N9B2,773
J| 1,058,030
& 317,409
01 AIXISHHEAMNEXZS 1,375,439 2,338,212 ANB2,773
Os|HUXEE S 2l=HI X 1,375,439
J| 1,058,030
& 317,409
HMSAAY|(ZHEH2 D) 215,991 225,826 N9,835
J| 38,359
& 177,632
ol 2| 178,727 176,673 2,054
J| 33,359
& 140,368
ClARAY|(ZEEHOYA HLE=TB) 54,540 54,450 0
101 @1244| 54,540 54,450 D
02 JIEt&E 4= 54,540 54,450 o)
OZFEZHOAI |2 e =sdAH2 21,600
OBFEBHOYAI =)t LESE2 32,940
QIHSAHH|(ZIIMIUE S HASt AL E=H| XIH) 26,604 26,604 0
J| 6,651
& 19,953
101 Q124d| 26,604 26,604 0
J| 6,651
& 19,953
02 JIEt& 24 26,604 26,604 0
O=IMWLUE S ST AL &sH| X 26,604
J| 6,651
= 19,953
ol S| (ZSHIZAIS) 55,344 53,473 1,871
J| 18,199
= 37,145
101 2124d| 55,344 53,473 1,871
J| 18,199
& 37,145
03 22 (2I|H)2EXNE 4 55,344 53,473 1,871
OZaae| ME2SAF B 55,344
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RO Al
H %0 3)
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A11,889
A11,889

A4,069
A4,069

NT,820
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49,153
16,853
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32,300
32,300

Ofl &F2H

2,110

1,680
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538
1,142
1,260

Il

H
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860
600
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192
408
600
19
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37,264
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